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Question Number : 1 Question Id : 60092913388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the CORRECT alternative from the given ones that will complete the series.

VD, SF, PH, MJ, JL, ?
Options :
1. ¥ GN
2. % GO
3. % HN
4. * HO



Question Number : 1 Question Id : 60092913388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fgepd fear T 8, o 4 ud ue g ¢ | AU Y fawed! & & 98 98t fadwed g, St Sfhd &1 [T H1

VD, SF, PH, MJ, JL, ?
Options :
1. ¥ GN
2. % GO
3. % HN
4. = HO

Question Number : 2 Question Id : 60092913389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that WRONG term from the given alternatives.

IWE, GTH, ERK, CPN, ANQ
Options :
1. ¥ IWE
2. % GTH
3. % ERK
4. % ANQ

Question Number : 2 Question Id : 60092913389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A a1 a1 &, Foras @ Ueb U Terd 3 | U U fasbedl # ¥ 39 Terd ug &1 gMu|

IWE, GTH, ERK, CPN, ANQ
Options :
1. ¥ IWE
2. % GTH



3. % ERK
4. % ANQ

Question Number : 3 Question Id : 60092913390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the ODD one out from the given alternatives.

Options :

1. * PR-QS
2. % MX-NY
3. ¥ NF - OH
4. % DL-EM

Question Number : 3 Question Id : 60092913390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fermuuy ® IR ser gm AT M §1 (1) & St 3R fod M 1eR () & et SR a0 T s1er I fopadt b/ fram ey @ Gefa g1 =
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Options :

1. % PR QS

2. % MX-NY

3. ¥ NF - OH

4. % DL -EM

Question Number : 4 Question Id : 60092913391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

ZT:VY :JB:?
Options :
1. ®* EG



2. % EH
3. % FH
4. ¥ FG

Question Number : 4 Question Id : 60092913391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy & fiu e faweal & § Tefda sieri & gfu|

ZT:VY :JB:?
Options :
1. % EG
2. % EH
3. % FH
4. ¥ FG

Question Number : 5 Question Id : 60092913392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word pair from the given alternatives.

East : North-West :: ?
Options :

1. # North : South

2. % South : South-East

3. % North-East : South-West
4. % South-East : North

Question Number : 5 Question Id : 60092913392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy # i 77T fow el & 9 Hefid 2sg g™ &1 gHu|



@:W-m 0 ?
Options :

1. ® IR UiEH

2. % Tferor: gl gd

3. % ITR-Ud : Glam-ufgy
4. %/ET\&fUT-Uj:W

Question Number : 6 Question Id : 60092913393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘LEAVE’ is written as ‘FWBFM’. What is the code for “WATER’ in that code language?
Options :

1. % SFVBX

2. % TEVBY

3. ¥ SFUBX

4. % TEUAY

Question Number : 6 Question Id : 60092913393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy HIs W &, ‘LEAVE’ &1 ‘FWBFM’ foRal SITdT § 1 St hlg HINT & ‘WATER® &1 IS T 82
Options :

1. ¥ SFVBX

2. % TEVBY

3. % SFUBX

4. % TEUAY

Question Number : 7 Question Id : 60092913394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘AEROPLANE’ is written as ‘ZVILKOZMV’. What is the code for ‘EDUCATION’ in that code language?
Options :



1. ¥ VXEXYGRNM
2. % VWFYZHRLM
3. ¥ VWFXYGRLM
4. ¥ VWFXZGRLM

Question Number : 7 Question Id : 60092913394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T {1y ®Is T H, ‘AEROPLANE’ @I ‘ZVILKOZMV’ oraT SITaT 8 | 31 18 U H ‘EDUCATION” FT HIS &1 62
Options :

1. ¥ VXEXYGRNM

2. ¥ VWFYZHRLM

3. ¥ VWFXYGRLM

4. ¥ VWFXZGRLM

Question Number : 8 Question Id : 60092913395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons P, Q, R, S, T and U sit around a circular table facing towards the centre (not necessarily in the same order). R sits second to the left of
S. U sits second to the right of T. P sits to the immediate left of Q. One person sits between P and U. Who sits third to the right of S?

Options :
1. %P
2.%Q
3. 97
4. % U

Question Number : 8 Question Id : 60092913395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. * P
2.%Q
3. 97
4. % U

Question Number : 9 Question Id : 60092913396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six boxes A, B, C, D, E and F are placed one above the other (not necessarily in the same order). One box is placed between C and D. One box is
placed between C and E. Three boxes are placed between A and B. B is placed above A. C is placed above D and F.
Which of the following statement is CORRECT?

I. One box is placed between D and F.
II. B is placed on the top.

Options :

1. * Only I

2. % Only I

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 9 Question Id : 60092913396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BETR A, B, C, D, ETUTF T I & SHUR W 911 & (TR el bt 3T HH A BN C IUTD & o1 § U JoRAI QT ST 81 C IUTE H
TSI AU TRI @I ATUTBHF TT AT TR @ A 81 BB A S SR IWT AT ]| C Bl D TUTF P SHUR [T 1T 5|
faferiad 7 9 o 91wy I8l 82

. D JUTF & o1d § Uh ST 3T ST g |
1. B! o SR Q[ AT 2|
Options :

1. % BHad |
2. % HAAII




3. % 1dUT I Sl
4. ATBIIATRII

Question Number : 10 Question Id : 60092913397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
. All Gare T.
II. NoTisP.

Conclusions:
I. NoGisP.
II. Some P are not T.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 60092913397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 foU T Uy ¥ 58 U 3R 39D 918 31 Bl R SMUTRT & (b U T | 3T T HU=1 &I 98! AM, e 374 AE= 1 a2t
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L®% WG, PTEIRI

IL.$SP, TR &I

Options :

1. % Had (sHY [ 3T HRT §

2. % Had BN 11 IR0 Hl §

3. ¢ QI (FIShY [ QT 11 SFJR0T %l &
4. % DIz W} FIohY SR T8 R §

Question Number : 11 Question Id : 60092913398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some A are C.
II. No Cis D.

Conclusions:

I. Some A is not D.
II. Some D is not A.
III. Some D is A.

Options :

1. ¥ Only conclusion I follows
2. % Only conclusion II follows
3. % Only conclusion III follows

4. % Both conclusion I and II follows

Question Number : 11 Question Id : 60092913398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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DY
LPS A, CRI
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e
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Options :

1. ¢ Had (IS [ 3ER0 T §

2. % I DY [1 STV BT §

3. % Had F5HY 111 38R0 HRT §

4. % Gl FTSHY 1 T 11 38R0 H1d &

Question Number : 12 Question Id : 60092913399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

18, 24, 42, 66, 108, ?
Options :
1. % 172
2.9 174
3. % 168
4. % 166

Question Number : 12 Question Id : 60092913399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofead us & & 1S gaen 3 ¥ g 3id F1d DI

18, 24, 42, 66, 108, ?



Options :
1. % 172
2.9 174
3. % 168
4. % 166

Question Number : 13 Question Id : 60092913400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that WRONG term from the given alternatives.

1,8,9,64,25,216,49, 516
Options :

1. % 49

2. % 64

3.¥ 516

4. %9

Question Number : 13 Question Id : 60092913400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 o T §, Ford 9 U U 7Tad ¢ | U 7Y fadenl o 9 39 7erd ug &1 gAu|

1, 8,9, 64, 25,216,49, 516
Options :

1. ® 49

2. % 64

3.¥ 516

4. %9

Question Number : 14 Question Id : 60092913401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many white are NOT red?

Cireen —
38

15 |12 — Red

24

White
Options :
1.¥ 42
2. % 15
3.% 12
4. % 27

Question Number : 14 Question Id : 60092913401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bl —
38

Options :
1.¥ 42



2. %15
3. % 12
4, % 27

Question Number : 15 Question Id : 60092913402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If North becomes North-East and South-West becomes West, then what will become South-East?
Options :

1. # East

2. # North-West

3. % South

4. # South-West

Question Number : 15 Question Id : 60092913402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fE IR, ITR-Yd B Sl & T SFAU-UfEH, UfEH 1 STl 3, ol Sfar-d o1 grm &2
Options :

1. % qd

2. % JITR-UEH

3. ¢ fgmor

4. % Sfeorafym

Question Number : 16 Question Id : 60092913403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh starts walking towards the south. He turns 270° in the anti-clockwise direction. He turns 185° in the anti-clockwise direction. He turns
120° in the clockwise direction. He turns 325° in the clockwise direction. Finally, he turns 75° in the anti-clockwise direction. In which direction
is he facing now?

Options :
1. # North-East



2. % South-East
3. ¥ South-West
4. % North-West

Question Number : 16 Question Id : 60092913403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XA EHR0T BT SR T SIRH DT 8| I8 AT G2 H 270° el §1 98 arTad &= # 1850 Gl ¢ | a5 Sfgromad f=m & 120° ggar
¢ | 98 cfemmad fa=n & 3250 GSd1 § | 3idd: 98 armmad fa= H 75° GSdl & | SUHT 49 3fd forg fe=m & 82

Options :

1. % IWR-Q4

2. ¥ Tf&ulyd

3. % Gf&uruiy
4, % IR

Question Number : 17 Question Id : 60092913404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given
alternatives.

(T.)<—OQO—>?

Options :

<O

1. ®



2. %
3.
4. %

Question Number : 17 Question Id : 60092913404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaf@a gea & T 717 Rwedt # @ wor Beg (?) & T W 3= e gl @ g

(T.)<—OQO—>?

Options :

<O

1. ®




3.¢

O~

4. %

Question Number : 18 Question Id : 60092913405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the WRONG figure from the given series.

s
B>

r aAllv [+ bl|9 L
P VlIr pPllyv L|[T A

Options :

A &
r P

'-d
*=




v J

r P
2. %

q L

T A
3. %

A

r P
4.«

Question Number : 18 Question Id : 60092913405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefaf@a gea A, &r 1 s@en # ¥ e AFT F AT

r Aal(v J||* b|[9 L||r alla
P V|| P||v L||T al||lP d|fr P
Options :




v J

r P
2. %

q L

T A
3. %

A

r P
4.«

Question Number : 19 Question Id : 60092913406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

N_f] 2




1/
1. ¢
2. % :
_J
3. %
7
4, %

Question Number : 19 Question Id : 60092913406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Hid H 3cd HFHS Fe HFHT F FATT H G FHEM?




/

Question Number : 20 Question Id : 60092913407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB. then which of the answer figures is the right image of the given figure?

|

A=~ceoeeeesv B

Options :

=i




3. %

Question Number : 20 Question Id : 60092913407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfE T gUUT & AB Y@ T WM AT, df & 7% 3cal HFHadl H H S O HFT Ted Hpfa HT Tar
sfates gref?

A=~eeeeeeserB
Options :

1. ¢



3. %
4, %

General Awareness
Group Number : 2
Group Id : 600929569
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awareness

Section Id : 600929724
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929868
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 60092913408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Moatsu festival is celebrated in which state of India?
Options :

1. ¥ Nagaland

2. % Kerala

3. ® Manipur

4. % Rajasthan

Question Number : 21 Question Id : 60092913408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NI AIeR YR & oy g § H11 STl 82
Options :

1. ¢ 9TICTS

2. % IR

3. % OOQR

4. % ISR




Question Number : 22 Question Id : 60092913409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of Monument — State is NOT correct?

1. Victoria Memorial — Uttarakhand
II. Humayu’s Tomb — Uttar Pradesh

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 22 Question Id : 60092913409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS — o4 BT Fafafad o 9 &F a1 gw 981 781 82

1. fageifar aaiad - SIRrEs
1. 1Y T HhaR] — IR UG
Options :

1. % FHad 1
2. % Had Il
3.9 1 AU Gl
4. % qGIIATRIII

Question Number : 23 Question Id : 60092913410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is NOT one of the methods used to calculate National Income.
Options :
1. # Expenditure method



2. * Income method
3. #* Product method
4. ¥ Revenue method

Question Number : 23 Question Id : 60092913410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R R CIEFRCACIDE [
Options :
1. * g fafy
2. % 3y fafy
3. % g fafy
4.« o fafy

Question Number : 24 Question Id : 60092913411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Post 1991, which sector largely contributed to the GDP of India?
Options :

1. # Agriculture sector

2. ¥ Service sector

3. #* Industrial sector

4. % Manufacturing sector

Question Number : 24 Question Id : 60092913411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1991 & TYTd, S F &P 7 HRA & Sit. s Ul & Jad F31 AT faam
Options :




3. % I &
4. % fafyAfor &

Question Number : 25 Question Id : 60092913412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following substance is used in soda-acid fire extinguishers?
Options :

1. # Washing soda

2. ¥ Baking soda

3. % Bleaching powder

4. ® Plaster of Paris

Question Number : 25 Question Id : 60092913412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofaied ® O 319 91 uard disT-or Sifimie # SxawTd fasar ST 82
Options :

1. % o9 BT e

2. ¢ ST ST

3. % foie® gui

4, % TIRCY 3T URY

Question Number : 26 Question Id : 60092913413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The loudness or softness of a sound is determined by its
Options :

1. # frequency

2. % amplitude

3. # wavelength



4. % gspeed

Question Number : 26 Question Id : 60092913413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&3 T TaeraT 3yar ggdl T 1 B Sl
Options :

1. % 3mgfa

2. % 3IUMH

3. % qoTee

4. % QT

Question Number : 27 Question Id : 60092913414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT?

I. In Myopia, the image of distant objects is focussed beyond the retina.
II. In hypermetropia, the image of nearby objects is focussed before retina.

Options :

1. #® OnlyI

2. % Only II

3. % BothlIandII
4. ¥ Neither I nor II

Question Number : 27 Question Id : 60092913414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead & ¥ &9 91 By agl 82

1. e =fdar o QR X9 axg &1 wfafde edued & i s 8|
1. g ¥ar & Uy it axgaeft & ufafae efPued & I s ar |

Options :



1. % Had 1
2. % Had Il
3. % [ QYT gHl
4. B IR

Question Number : 28 Question Id : 60092913415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
and have higher average population densities than India.

Options :

1. ¥ Bangladesh; Japan
2. % China; Japan

3. # China; Bangladesh
4. # Japan; China

Question Number : 28 Question Id : 60092913415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT &1 SFRREAT I HRA ¥ 3 ¢ |

Options :

1. ¢ SRATGRT; STgH
2. % 9, S

3. ® Eﬁ:[,aﬂm
4. % SOME; 9

Question Number : 29 Question Id : 60092913416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of peak — country is NOT correct?

I. Namcha Barwa — Nepal
II. Nanda Devi — India



Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 29 Question Id : 60092913416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RreR — 3w o1 Fgfafed & ¥ o9 gw 98 Td 82

1. AT §53T — AUt
1. Hered! — URd
Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % AT I

Question Number : 30 Question Id : 60092913417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mahatma Budha attained enlightment at
Options :

1. ¥ Bodh Gaya

2. ® Sarnath

3. #® Patliputra

4. ¥ Pawapuri

Question Number : 30 Question Id : 60092913417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HETH g I o IHE DI U g3
Options :

1. ¥ Sy T

2. % qRAY

3. % Urefag
4. % QraTqRy

Question Number : 31 Question Id : 60092913418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kanchipuram was the capital of

Options :

1. ¥ Pallavas

2. #® Chalukyas

3. # Chola

4. % Chandela

Question Number : 31 Question Id : 60092913418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DHIIgRA EARUSHIB IR
Options :

1. % Ucald

2. % T

3. % T

4. % Tdd

Question Number : 32 Question Id : 60092913419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The practice of erecting megaliths began about years ago.



Options :
1. % 4000
2. % 2000
3. ¥ 3000
4. % 1000

Question Number : 32 Question Id : 60092913419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETUTYTUN sl ST T TAT THRTHAT Iy Ugd Y& g3
Options :

1. * 4000

2. % 2000

3. % 3000

4. % 1000

Question Number : 33 Question Id : 60092913420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT?

I. Delhi first became the capital of a Kingdom under the Tomara Rajputs.
II. In 1236 Sultan Iltutmish’s daughter, Raziyya became sultan.

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 33 Question Id : 60092913420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied o @ & 91 Sy I8l 82
I AR ISl o hTdl B fece forddl THrd o! ASTeril ggall IR &t
I1. T 1236 H e Segari &1 gt Iorar Rige wR 931

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Question Number : 34 Question Id : 60092913421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is called father of Indian Radio Astronomy?
Options :

1. # Yashwant Gupta

2. # Anita Sengupta

3. # Ashwin Vasavada

4. ¥ Govind Swarup

Question Number : 34 Question Id : 60092913421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & 3 f5a YR e T oy & e w1 S1dr 82
Options :

1. ® IRIGd Il

2. % 3{fdT S

3. % YT Iraar

4. ¢ Tfdg WsY

Question Number : 35 Question Id : 60092913422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT?

I. Padma Awards are announced every year on the occasion of Republic Day.
II. Bharat Ratna is the highest civilian award of the country.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 35 Question Id : 60092913422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofeifad & ¥ o9 91 By Igl 82

L. U5 RIBRI D1 G0 8 I8 UG [Ga9 & 3auR R &1 ol g |
1. YR I ST &1 Fated AR T g |
Options :

1. % Hadl
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Question Number : 36 Question Id : 60092913423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the right to property was removed from the list of fundamental rights of Indian constitution?
Options :

1. % 1976

2.9 1978

3. % 1982



4. % 1979

Question Number : 36 Question Id : 60092913423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore oy Tuft & ISR o R Sfaum & Mifce feR! & It § ger faar mar um
Options :

1. ® 1976

2. ¥ 1978

3. % 1982

4. % 1979

Question Number : 37 Question Id : 60092913424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT?

I. Article 44 of Indian constitution deals with uniform civil code for the citizens.
II. Article 24 of Indian constitution deals with protection of interests of minorities.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 37 Question Id : 60092913424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o9 91 By Igl 82

. YR Hfae™ BT 3fJwdq 44 AR & fog 9 Rifaa dfedr @ Haftd g
1. MR AU HT 3G 24 SIS 1 & 3l BT TREUN F YafId g |

Options :




1. ¥ Had I
2. % HAd I
3. % [QUT I gl
4. % 1B

Question Number : 38 Question Id : 60092913425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Neeraj Chopra has become the second Indian to win an individual gold medal in the Olympics. He belongs to which state of India?
Options :

1. * Punjab

2. % Haryana

3. # Rajasthan

4, % Uttar Pradesh

Question Number : 38 Question Id : 60092913425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRt et sficifues ® safaaid Wuf e Siae arel geR HRTT &9 T4 § | 98 IR & o o9 & 384 aTdl /2
Options :

1. % Uog

2. « g

3. % SR

4. % JWRYSY

Question Number : 39 Question Id : 60092913426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the captain of Indian Women’s Hockey Team at Tokyo Olympic 2020 (played in 2021)?
Options :

1. ¥ Rani Rampal



2. # Vandana Katariya
3. #® Savita Punia
4. # Salima Tete

Question Number : 39 Question Id : 60092913426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl 3fefe 2020 (2021 B W 1Y) H YR AR 8idb! S0 &t S B 2t
Options :

1. ¢ X T

2. % deT el

3. % giadr g

4. % gAHTS

Question Number : 40 Question Id : 60092913427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

International Chess Federation headquarter are situated at
Options :

1. # New York

2. ¥ Paris

3. # Moscow

4. % New Delhi

Question Number : 40 Question Id : 60092913427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR YRS B BT AT Hfd gl
Options :

1. % gIH

2. v URY
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Question Number : 41 Question Id : 60092913428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If (60)% — (40)? = A x 100, then what is the value of A?
Options :

1. % 10

2.9 20

3. % 50

4. % 100

Question Number : 41 Question Id : 60092913428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e (60)2 — (40)2 = A x 100 B, A A T HIT T 82
Options :

1. % 10

2.¥ 20

3. % 50

4. % 100

Question Number : 42 Question Id : 60092913429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the sum of first 30 odd numbers?
Options :
1. % 900
2. % 930
3. % 465
4. * 480

Question Number : 42 Question Id : 60092913429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugait 30 fauH T3 71 AT A7 89



Options :
1. % 900
2. % 930
3. % 465
4. % 480

Question Number : 43 Question Id : 60092913430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sum of six number is 132. If one number is removed, then the average of remaining five number becomes 20. What is the number which was
removed?

Options :
1. % 34
2.9 32
3. % 28
4. % 24

Question Number : 43 Question Id : 60092913430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B8 T=A13Ml BT AN 132 71 T Uep TRaT gt <t i1l 8, af AW U Tanaft o7 i 20 81 ST § | a8 S 31 § forgen! geran mar um
Options :

1. ® 34

2.9 32

3. % 28

4. % 24

Question Number : 44 Question Id : 60092913431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price of a shirt is five times of its cost price. After giving a discount of 70 percent it is sold for Rs. 3300. What is the cost price of this
shirt?



Options :

1. % Rs. 4400
2. % Rs. 3850
3. ¥ Rs. 2750
4. ¥ Rs. 2200

Question Number : 44 Question Id : 60092913431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T C HT 3Hfohd Jod o9 Yod &1 Urd AT g1 70 UTI=Id B FE o B YT 9 3300 TUY & 511 71 ¢ | 59 TUC BT T Hed FT 62
Options :

1. % 4400 39

2. ¥ 3850 30U

3. % 2750 30U

4.+ 2200 3T

Question Number : 45 Question Id : 60092913432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of book is 160 percent more than the price of pen. If price of pen is Rs. 260, then what is the price of book?
Options :

1. % Rs. 524

2. % Rs. 416

3. ¥ Rs. 676

4. % Rs. 822

Question Number : 45 Question Id : 60092913432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS e &1 It Ueh Had & Jed ¥ 160 Tawrd i g1 afd Hed &1 5ed 260 ¥ 8, T fhd1e &1 Jod 71 82
Options :




1. % 524300
2. % 416300
3. ¢ 676 300
4. % 822304

Question Number : 46 Question Id : 60092913433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amit spend 40 percent of his income on food. He spends 30 percent of the remaining part on transport and he left with Rs. 17640. What is the
income of Amit?

Options :

1. ¥ Rs. 42000
2. % Rs. 38800
3. % Rs. 41983
4. ¥ Rs. 44220

Question Number : 46 Question Id : 60092913433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST ST 3T BT 40 YA TH W W HRAT 2 | 98 AV HFT BT 30 Y= AT TR W HRAT § adT 3P U 17640 ST S ¢ |
T B T T 52

Options :

1. ¢ 42000 3T
2. % 38800 ¥UY
3. % 41983307
4. % 44220 30Y

Question Number : 47 Question Id : 60092913434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Selling price of a chair is Rs. 36540. If loss is 37 percent, then what is the cost price of this chair?
Options :



1. #* Rs. 54440
2. # Rs. 50059
3. ¥ Rs. 58000
4. % Rs. 56560

Question Number : 47 Question Id : 60092913434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HAT BT faohd Ted 36540 T | TS 81 37 ufawd 8, O 39 $if &1 v e s 82
Options :

1. % 54440 30

2. % 50059 ¥UY

3. ¢ 58000 3T

4. % 56560 T

Question Number : 48 Question Id : 60092913435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh bought a watch and sold it to Vipin at a profit of 15 percent. Vipin sold this watch to Vineet at a loss of 32 percent. If Vineet purchased
the watch for Rs. 27370, then for how much price did Ramesh bought this watch?

Options :

1. % Rs. 40500
2. % Rs. 37500
3. ¥ Rs. 35000
4. % Rs. 33400

Question Number : 48 Question Id : 60092913435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A A UH ot Wie! auT fafta &1 15 wfawrd ard R a1 fafia 3 59 98! &1 famid &1 32 ufawd &1 811 IR 9= &1 | afe faqid = gst
27370 TYY DI WRIG!, df I TS| foba $Ud &I @Riat e

Options :



1. % 40500 30
2. % 37500 3T
3. ¢ 35000 3T
4. % 33400 3T

Question Number : 49 Question Id : 60092913436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratio of the present ages of Vikram and Sameer is 7 : 9 respectively. If Vikram’s age is 8 years less than Sameer’s age, then what is the age of
Vikram?

Options :

1. % 21 years
2. ® 24 years
3. ® 26 years
4. ¥ 28 years

Question Number : 49 Question Id : 60092913436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fIeh T U1 THR &1 IIHM 3 BT SJUTT HHR: 7 : 9 51 TG [ahH DI 3T THR 1 ST J 8 T8 HH &, f b &1 g 1 82
Options :

1. %2139

2. % 247Y

3. % 269N

4.4 28 Y

Question Number : 50 Question Id : 60092913437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A:B=11:17and B: C=6:11. If the value of B is 1530, then what is the sum of A, B and C?
Options :

1. ¥ 5325



2. % 4895
3. % 4715
4. % 4525

Question Number : 50 Question Id : 60092913437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A:B=11:17TdB:C=6:11, 3¢ BHTAF 1530 8, A A, B TUT C BT IR T 52
Options :

1. ¥ 5325

2. % 4895

3. % 4715

4. % 4525

Question Number : 51 Question Id : 60092913438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compound interest (compounding annually) on a sum is Rs. 5880 for 2 years. If rate of interest is 10 percent per annum, then what is the sum?
Options :

1. # Rs. 33880

2. ¥ Rs. 28000

3. ¥ Rs. 27400

4, % Rs. 25200

Question Number : 51 Question Id : 60092913438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AR W 2 I & T Tehgfa < (@rfifer TaoH WR) 5880 TUA 81 TfS =TT Bt &R 10 Ufawra ufa 9ol g, at i e g2
Options :

1. % 33880 30"

2. ¢ 28000 3T



3. % 27400 U
4. % 25200 3UY

Question Number : 52 Question Id : 60092913439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum becomes 5 times of itself in 12 years at the rate of simple interest. In how many years will the sum become 25 times of itself at the same
rate of interest?

Options :

1. # 48 years
2. % 75 years
3. % 60 years
4. % 72 years

Question Number : 52 Question Id : 60092913439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS M YR STl D1 e F 12 N H W Bt 5 T 81 Tl © | R <71 1 T &R  fora auf & wad & 25 A1 81 et
Options :

1. % 4899

2. % 759

3. % 60 QY

4.4 7299

Question Number : 53 Question Id : 60092913440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train can cross a pole in 6 seconds. If the speed of train is 144 km/hr, then what is the length of the train?
Options :

1. # 120 metres

2. # 156 metres

3. % 180 metres



4. ¥ 240 metres

Question Number : 53 Question Id : 60092913440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T XS Th G Bl 6 Yohe T UR IR Al ¢ | Al YIS DI 1 144 5. Y /ader &, T XS] o1 avalrs 31 87
Options :

1. % 120 HiR

2. % 156 HIcR

3. % 180 HIR

4. ¢ 240 HicR

Question Number : 54 Question Id : 60092913441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul and Mohit are 425 metres apart from each other. If Rahul and Mohit are moving towards each other with the speed of 36 km/hr and 54
km/hr respectively, then how much will they take to meet each other?

Options :

1. # 21 seconds
2. ¥ 17 seconds
3. % 16 seconds

4. % 14 seconds

Question Number : 54 Question Id : 60092913441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g qUT Hifed T gak ¥ 425 Hiex &1 g8 W g | A Vg a1 Mfigd Uk gak & 3R HHRT: 36 o 1. /eer aut s4 fob d A &t nfa S =a
W E, AN IP g A firem & 3 foraen v de

Options :

1. % 21 APbg



4. % 147Pg

Question Number : 55 Question Id : 60092913442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suresh can complete a work in 40 days. If Sumit is five times as efficient as Suresh, then how much time will Sumit take to complete the same
work?

Options :

1. % 10 days
2. ¥ 8 days
3. # 12 days
4. % 16 days

Question Number : 55 Question Id : 60092913442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R TH BT DI 40 feT 7 = Toha g1 IfS JrArd, R U1 T SRS &, al d I 1 & R BA | fae fo= amme
Options :

1. % 10feA

2. ¢ gfeH

3. % 12feF

4.% 16137

Question Number : 56 Question Id : 60092913443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C together can complete a work in 105/2 days. A and B can complete the same work in 315 days and 210 days respectively. In how
many days C alone can complete the same work?

Options :

1. % 45 days
2. % 70 days
3. % 84 days



4. ¥ 90 days

Question Number : 56 Question Id : 60092913443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B AT C TR Ue &1 B1 105/2 fd B R IR Thd &1 A TUT B THH B BT HAE: 315 fa T4 210 &7 T AR v g1 € Sibelt
I BT B! T o & g = wahd 82

Options :

1. % 45f&T
2. % 70 fa&q
3. % g4faq
4.+ 90 fam

Question Number : 57 Question Id : 60092913444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the total surface area of a sphere is 2464 cm?, then what is the diameter of the sphere?
Options :

1. % 14 cm

2.% 28 cm

3. % 21 cm

4. % 10.5cm

Question Number : 57 Question Id : 60092913444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e U M BT ol IS &0 2464 F.H12 B, O ST M T o1 1 ST
Options :

1. % 147,

2. ¢ 28 4.,

3. % 21 9L



4. % 105 9.H.

Question Number : 58 Question Id : 60092913445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie chart given below shows the population of five villages in 2020. Total population of all five villages is 120000.

Population in a particular village is shown as percentage of total population in all five villages.

A’“‘H
10%

What is the total population of village A, C, D and E?
Options :

1. # 76000

2.9 72000

3. % 78000

4. % 94000

Question Number : 58 Question Id : 60092913445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A e I gea &9 2020 7 ore & Fr FAEE F AT g1 G 9= dT B FoA FAEE
120000 g1 ve Taferse aa & Swaear & @t 91 el HF ol ATHEA & Javd & & H geidr
;AT

A
E |10%
15%
B
40%
C
20%

ag A, C, D @ E &7 Sa8Ear F41 872
Options :

1. # 76000

2. % 72000

3. % 78000

4. % 94000

Question Number : 59 Question Id : 60092913446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph given below shows revenue by selling four different products A, B, C and D by a company in 2015.

475

325 320

280

What is the average revenue of the company for the given four products?
Options :
1. # 250
2. % 300
3. ¥ 350
4. % 400

Question Number : 59 Question Id : 60092913446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



= &9 19 SR aw 2015 H UH 96T garT IR &Fffes 309t A, B, C I D & d=a U=
AT 2l

475

325 320

280

faw 17 I 3ol ¥ FUe & g Teem =
Options :
1. % 250
2. % 300
3. % 350
4. % 400

Question Number : 60 Question Id : 60092913447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The line graph given below shows the percent profit earned by two companies P and Q during period 2015 to 2019.

Percentage profit earned by two companies P and Q over the given years.

Income — Expenditure

%% Profit = % 100
: Expenditure
60 60
50 20 50
40
ap 30

25
20

2015 2016 2017 2018 2019

If the income of two companies were equal in 2016, then what was the ratio of expenditure of company P to expenditure
of company Q in 20167

Options :

1.¥7:8

2.% 6:7

3.%5:8

4. %5:9

Question Number : 60 Question Id : 60092913447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



sfrer f&am T/ Y@ =T 2015 ® 2019 & 3afY & SR e ufaar P a9 Q @ 3faa wiaerd st
@ geiar g1 e ste aut & o Fufaat P gur Q garr #f&Sg oy wr gfaerd|
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T T T T T 1
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ofg 2016 # & Fufaat & 3y ey o, & 2016 # FUAT P & =07 1 F90 Q & 7T ¥ A9
T o4T?

Options :

1.¥7:8

2.% 6:7

3.%5:8

4. % 5:9
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Question Number : 61 Question Id : 60092913448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I choose the duet/ song because/l was confident./No error
Options :

1. ¥ I choose the duet

2. * song because

3. * I was confident.

4. % No error

Question Number : 61 Question Id : 60092913448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I choose the duet/ song because/l was confident./No error
Options :

1. ¥ 1 choose the duet

2. # song because

3. # T was confident.

4. % No error

Question Number : 62 Question Id : 60092913449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The government have done/ well to introduce/ the new pension policy./ No error
Options :

1. ¥ The government have done

2. # well to introduce

3. # the new pension policy.

4. % No error

Question Number : 62 Question Id : 60092913449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The government have done/ well to introduce/ the new pension policy./ No error
Options :

1. ¥ The government have done

2. # well to introduce

3. #* the new pension policy.



4. % No error

Question Number : 63 Question Id : 60092913450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Will have they shifted to the new place?
Options :

1. ¥ Will they have

2. % Will they has

3. % Will they are

4. % No improvement

Question Number : 63 Question Id : 60092913450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Will have they shifted to the new place?
Options :

1. ¥ Will they have

2. % Will they has

3. % Will they are

4. ¥ No improvement

Question Number : 64 Question Id : 60092913451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.



He keep all his memorabilia into the bed trunk.

Options :

1. #® keep every of his memorabilia in

2. % keep all of his memorabilia in

3. % keeps every of his memorabilia into

4. ¥ No improvement

Question Number : 64 Question Id : 60092913451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He keep all his memorabilia into the bed trunk.

Options :

1. # keep every of his memorabilia in

2. % keep all of his memorabilia in

3. % keeps every of his memorabilia into

4. % No improvement

Question Number : 65 Question Id : 60092913452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

Transition and completion rates improve.
Options :

1. ® have

2. % has

3. % have to

4. ® has to



Question Number : 65 Question Id : 60092913452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

Transition and completion rates improve.
Options :

1. * have

2. % has

3. ¥ have to

4. * hasto

Question Number : 66 Question Id : 60092913453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

People who are orthodox have minds.
Options :

1. * buff

2. % mallow

3. ¥ shallow

4. % mellow

Question Number : 66 Question Id : 60092913453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

People who are orthodox have minds.
Options :
1. # buff

2. % mallow



3. % shallow

4. % mellow

Question Number : 67 Question Id : 60092913454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: As late as 1768, the first edition of Encyclopaedia Britannica gave voice to a common misconception by defining volcanoes as “burning
mountains, which probably are made up of sulphur and some other matter proper to ferment with it, and take fire.”

Q: However, science was late in recognizing the important role of volcanism in the evolution of the Earth.

R: Volcanoes figure prominently in the mythology of many peoples who have learned to live with eruptions.

S: Today geologists agree that volcanism is a profound process resulting from the thermal evolution of planetary bodies.

Options :

1. ¥ PSQR
2. ¥ RQPS
3. % SQRP
4. ¥ RQSP

Question Number : 67 Question Id : 60092913454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: As late as 1768, the first edition of Encyclopaedia Britannica gave voice to a common misconception by defining volcanoes as “burning
mountains, which probably are made up of sulphur and some other matter proper to ferment with it, and take fire.”

Q: However, science was late in recognizing the important role of volcanism in the evolution of the Earth.

R: Volcanoes figure prominently in the mythology of many peoples who have learned to live with eruptions.

S: Today geologists agree that volcanism is a profound process resulting from the thermal evolution of planetary bodies.

Options :

1. % PSQR
2. ¥ RQPS
3. % SQRP



4. % RQSP

Question Number : 68 Question Id : 60092913455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: The average person spends nearly 600 hours dreaming each year during REM sleep.

Q: Approximately 25 percent of the night is spent in REM sleep, and people will remember a dream more than 80 percent of the time if woken
during a REM period.

R: It is characterized by an accelerated heart rate, rapid and irregular breathing, and periods in which the eyes dart back and forth.

S: REM sleep is the stage in which dreams occur.

Options :

1. ¥ SRQP
2. % RSPQ
3. % SPRQ
4. % RPQS

Question Number : 68 Question Id : 60092913455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: The average person spends nearly 600 hours dreaming each year during REM sleep.

Q: Approximately 25 percent of the night is spent in REM sleep, and people will remember a dream more than 80 percent of the time if woken
during a REM period.

R: It is characterized by an accelerated heart rate, rapid and irregular breathing, and periods in which the eyes dart back and forth.

S: REM sleep is the stage in which dreams occur.

Options :

1. ¥ SRQP
2. % RSPQ
3. ¥ SPRQ
4. % RPQS



Question Number : 69 Question Id : 60092913456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Perception
Options :

1. * Insolent
2. * Incarnate
3. # Jail

4. ¥ Insight

Question Number : 69 Question Id : 60092913456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Perception
Options :

1. * Insolent
2. * Incarnate
3. % Jail

4. ¥ Insight

Question Number : 70 Question Id : 60092913457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Unfriendly
Options :
1. % War



2. % Warm
3. % Frugal
4. % Dearth

Question Number : 70 Question Id : 60092913457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Unfriendly
Options :
1. ¥ War
2. % Warm
3. * Frugal
4. % Dearth

Question Number : 71 Question Id : 60092913458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. # Definitily

2. # Difenitly

3. % Defenitely

4. ¥ Definitely

Question Number : 71 Question Id : 60092913458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. # Definitily



2. # Difenitly
3. % Defenitely
4. ¥ Definitely

Question Number : 72 Question Id : 60092913459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. # Nashionlism

2. ¥ Nationalism

3. # Netionalism

4, % Natianalism

Question Number : 72 Question Id : 60092913459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. % Nashionlism

2. % Nationalism

3. # Netionalism

4. % Natianalism

Question Number : 73 Question Id : 60092913460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To end in smoke
Options :
1. # In difficulty



2. * No choice at all
3. ¥ To waste

4. * To interfere

Question Number : 73 Question Id : 60092913460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To end in smoke
Options :

1. % In difficulty

2. % No choice at all
3. ¥ To waste

4. % To interfere

Question Number : 74 Question Id : 60092913461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Gravy train

Options :

1. % A lucky day

2. % To be born in a rich family
3. ¥ Source of easy money

4. # To get fired from one’s dream job

Question Number : 74 Question Id : 60092913461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



Gravy train

Options :

1. % A lucky day

2. % To be born in a rich family

3. ¥ Source of easy money

4. % To get fired from one’s dream job

Question Number : 75 Question Id : 60092913462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A talkative person
Options :

1. ¥ Garrulous
2. # Mirthful

3. % Frivolous

4. #* Querulous

Question Number : 75 Question Id : 60092913462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A talkative person

Options :

1. ¥ Garrulous

2. # Mirthful

3. % Frivolous

4. * Querulous

Sub-Section Number : 2
Sub-Section Id : 600929871
Question Shuffling Allowed : Yes



Question Id : 60092913463 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

Mountaineering, also called mountain climbing, the sport of attaining, or attempting to attain, high points in mountainous regions, mainly for the
pleasure of the climb. Although the term is often loosely applied to walking up low mountains that offer only moderate difficulties, it is more
properly restricted to climbing in localities where the terrain and weather conditions present such hazards that, for safety, a certain amount of
previous experience will be found necessary. For the untrained, mountaineering is a dangerous pastime.

Climbing mountains embodies the thrills produced by testing one’s courage, resourcefulness, cunning, strength, ability, and stamina to the utmost
in a situation of inherent risk. Mountaineering, to a greater degree than other sports, is a group activity, with each member both supporting and
supported by the group’s achievement at every stage. For most climbers, the pleasures of mountaineering lie not only in the “conquest” of a peak
but also in the physical and spiritual satisfactions brought about through intense personal effort, ever-increasing proficiency, and contact with
natural grandeur.

Early attempts to ascend mountain peaks were inspired by other than sporting motives: to build altars or to see if spirits actually haunted once-
forbidden heights, to get an overview of one’s own or a neighbouring countryside, or to make meteorological or geological observations. Before
the modern era, history recorded few attempts to ascend mountain peaks for the mere sake of the accomplishment. During the 18th century, a
growing number of natural philosophers—the scientists of their day—began making field trips into the Alps of Europe to make scientific
observations. The area around Chamonix, France, became a special attraction to those investigators because of the great glaciers on the Mont
Blanc chain.

By 1870 all of the principal Alpine summits had been scaled, and climbers began to seek new and more-difficult routes on peaks that had already
been ascended. As the few remaining minor peaks of the Alps were overcome, by the end of the 19th century climbers turned their attention to
the Andes Mountains of South America, the North American Rocky Mountains, the Caucasus at the western edge of Asia, Africa’s peaks, and
finally the vastness of the Himalayas.

Sub questions

Question Number : 76 Question Id : 60092913464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given passage specifically talks about:

Options :

1. ¥ The climbers who ascended the Mount Everest.

2. % Mountain climbing and its brief history.

3. # Various notions revolving around mountain climbing.

4. % Techniques involved while climbing a mountain.



Question Number : 77 Question Id : 60092913465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, all the given statements are correct EXCEPT:
Options :

1. # Mountaineering brings spiritual satisfaction to many people.

2. # All of the principal Alpine summits had been scaled by 1870.

3. ¥ For the untrained, mountaineering can be a great pastime.

4. ¥ Andes mountain is situated in South America.

Question Number : 78 Question Id : 60092913466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why the area around Chamonix, France, became a special attraction for scientific observations?
Options :

1. # Because of the generous locality around.

2. % Because of the steep slopes of the mountains there.

3. % Because that area was never discovered due to fatal weather conditions.

4. ¥ Because of the great glaciers on the Mont Blanc chain.

Question Number : 79 Question Id : 60092913467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words can replace the word ‘attaining’ meaningfully in the passage?
Options :

1. ¥ Acquiring

2. # Fathoming

3. # Subjugating

4. % Lacking

Question Number : 80 Question Id : 60092913468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the given passage, which of the following pairs is/are INCORRECT?

I. Rocky mountains - North America
II. The Caucasus - South America

Options :

1. % Only I

2.% Only II

3. % Both I and II
4. % Neither I nor II

Question Id : 60092913463 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

Mountaineering, also called mountain climbing, the sport of attaining, or attempting to attain, high points in mountainous regions, mainly for the
pleasure of the climb. Although the term is often loosely applied to walking up low mountains that offer only moderate difficulties, it is more
properly restricted to climbing in localities where the terrain and weather conditions present such hazards that, for safety, a certain amount of
previous experience will be found necessary. For the untrained, mountaineering is a dangerous pastime.

Climbing mountains embodies the thrills produced by testing one’s courage, resourcefulness, cunning, strength, ability, and stamina to the utmost
in a situation of inherent risk. Mountaineering, to a greater degree than other sports, is a group activity, with each member both supporting and
supported by the group’s achievement at every stage. For most climbers, the pleasures of mountaineering lie not only in the “conquest” of a peak
but also in the physical and spiritual satisfactions brought about through intense personal effort, ever-increasing proficiency, and contact with
natural grandeur.

Early attempts to ascend mountain peaks were inspired by other than sporting motives: to build altars or to see if spirits actually haunted once-
forbidden heights, to get an overview of one’s own or a neighbouring countryside, or to make meteorological or geological observations. Before
the modern era, history recorded few attempts to ascend mountain peaks for the mere sake of the accomplishment. During the 18th century, a
growing number of natural philosophers—the scientists of their day—began making field trips into the Alps of Europe to make scientific
observations. The area around Chamonix, France, became a special attraction to those investigators because of the great glaciers on the Mont
Blanc chain.

By 1870 all of the principal Alpine summits had been scaled, and climbers began to seek new and more-difficult routes on peaks that had already
been ascended. As the few remaining minor peaks of the Alps were overcome, by the end of the 19th century climbers turned their attention to
the Andes Mountains of South America, the North American Rocky Mountains, the Caucasus at the western edge of Asia, Africa’s peaks, and
finally the vastness of the Himalayas.

Sub questions

Question Number : 76 Question Id : 60092913464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given passage specifically talks about:

Options :

1. # The climbers who ascended the Mount Everest.

2. ¥ Mountain climbing and its brief history.

3. # Various notions revolving around mountain climbing.

4. ® Techniques involved while climbing a mountain.

Question Number : 77 Question Id : 60092913465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, all the given statements are correct EXCEPT:
Options :

1. ¥ Mountaineering brings spiritual satisfaction to many people.

2. % All of the principal Alpine summits had been scaled by 1870.

3. % For the untrained, mountaineering can be a great pastime.

4. ¥ Andes mountain is situated in South America.

Question Number : 78 Question Id : 60092913466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why the area around Chamonix, France, became a special attraction for scientific observations?
Options :

1. # Because of the generous locality around.

2. % Because of the steep slopes of the mountains there.

3. # Because that area was never discovered due to fatal weather conditions.

4. ¥ Because of the great glaciers on the Mont Blanc chain.

Question Number : 79 Question Id : 60092913467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following words can replace the word ‘attaining’ meaningfully in the passage?



Options :

1. ¥ Acquiring
2. % Fathoming
3. # Subjugating
4. # Lacking

Question Number : 80 Question Id : 60092913468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given passage, which of the following pairs is/are INCORRECT?

I. Rocky mountains - North America
II. The Caucasus - South America

Options :

1. % Only I

2. ¢ Only I

3. % Both Iand Il
4. #® Neither I nor II
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Question Number : 81 Question Id : 60092913469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 77U <reg & WY T fawdg o1 T PIRTY
CIIE

Options :

1. % 9 + 1Y
2. w’a@+€ru
3. % dld + 2%
4, % qr+ MY

Question Number : 81 Question Id : 60092913469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T wreg & Y TfY fawse o1 I8 S|
ariY

Options :




1. % g + A1y
2. Al + Y
3. % 9l + 3%
4. % g+ U1y

Question Number : 82 Question Id : 60092913470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U w3l & HEY THY BT I B
-SRI

Options :

1. ¢ §g 9a™

2. % fg U™

3. % §gdifs Ia™

4. % HHYRYT U

Question Number : 82 Question Id : 60092913470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT U eci & TS AN BT TFH BIAT
Hedl-gRT

Options :

1. ¢ g 9HY

2. % g Uy

3. % §gdifs Ia™

4. % HHYRY UG

Question Number : 83 Question Id : 60092913471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fofafed & 3 o 91 XMeg <= 82
Options :

1. ¥ Uy

2. % et

3. % Wi

4. % qidd

Question Number : 83 Question Id : 60092913471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FofRad & § 31 91 Weg G 52
Options :

1. ¢ oU™"g

2. ® el

3. % Wi

4. % §idd

Question Number : 84 Question Id : 60092913472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 I & fRad ®IFE 3t gfd B
AP 3 9gd F 79 Zicts H ¥, iR HRA Bt B ITPI faféra g1

Options :
1. B
2. % g
3. % AHUAU4
4, % 9

Question Number : 84 Question Id : 60092913472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U 7T are ¥ o ®IF &1 gfd @11
TGP 3 9gd ¥ aY S1dis H fadmg, Sik YRd Bt R ITH] ICIECEIRIEL

Options :
1. ¢ 3T
2. % g
3. % 3{UAY+d
4, % 9

Question Number : 85 Question Id : 60092913473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T Tsg 1 faei e s F1d BT

SIHE]

Options :
1. % N
2. ¥ Yald
3. % ald
4. % 44

Question Number : 85 Question Id : 60092913473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U Treq &1 fadH Weg F1d BITWI

SIHE

Options :
1. % N
2. ¥ Yald
3. % a4



4. % 4F

Question Number : 86 Question Id : 60092913474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 7T Ysg 1 yafgarht 31d SR
adR

Options :
1. % dlcdddh
2. % 9y
3.¢ g
4. % guf

Question Number : 86 Question Id : 60092913474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T Tsg 1 yafgaT 31d ST
ddR

Options :
1. ® dlcfdh
2. % 9§
3.¥ Y
4. % gof

Question Number : 87 Question Id : 60092913475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad 2rsal & ¥ Y& ac- &1 99 S|

Options :

1. % gffad



2. % Bt
3. % it
4.4 91y

Question Number : 87 Question Id : 60092913475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad weal & T Y ad- &1 994 Hifod |
Options :

1. % gffad

2. % DI

3. % it

4. ¢ Y

Question Number : 88 Question Id : 60092913476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRaa aredl & U R a1 &1 99 Fifod |
Options :

1. ¢ 3 A IR S B H DI G|

2. % 3 TR UGl 3R Af &I ¢

3. % Iq 3 IR UG 9 Al Bl ol

4. % 3§19 OR UgdI a9 |l Bl 4T

Question Number : 88 Question Id : 60092913476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed o 7 O IR 919 &1 999 DA |
Options :

1. ¢ 37 TR Ol %X Al B Tl

2. % 3 TR UEHT 3R Al B 4T |



3. % Iq 3 OR UG I Al Bl ¢l
4. % 3G W U1 a9 Al B G|

Question Number : 89 Question Id : 60092913477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad T O ¥ wgad Tt &1 99 DIl |
Options :

1. ¢ Blaex A AW I ¢ 3R I gar |

2. % §d Sl A TSl i ¢ dd 34 gar |

3. % O gl Sider A ARIel &l ¢l ol g1 39 gal 4|
4. % Slaex = WIS Bl 4T, fthr 34 gar |

Question Number : 89 Question Id : 60092913477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRad aredl & § wye 916 &1 999 Sifo |
Options :

1. ¢ STaeX A A B & SR I gar |

2. % §q ldeX 4 AV Bl ¢l a9 I &dl 1|

3. % O g1 Slaex 7 AW 1 &l 99 Bl I qar |
4, % Sl 4 A1 bl &, fthr 39 gar |

Question Number : 90 Question Id : 60092913478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfead # & THfeRT I1d Siferu
Options :

1. ¢ Sefadt

2. % YIg™

3. % id



4. % fayrdr

Question Number : 90 Question Id : 60092913478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad H I TR 31d Bl
Options :

1. ¢ gaddt

2. % Yqdlg

3. % id

4. % fayrar

Question Number : 91 Question Id : 60092913479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T aTeRs 1 T T BT

TR T DR o ddgjg 1 98 el T
Options :

1. % 3d Yd

2. % JUTH gaqH™

3. % iy yd

4.« QT Yd

Question Number : 91 Question Id : 60092913479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT TTQ IRy 1 PTe AT DIfSTT

TR 1 B & d1avig 1 I8 e T
Options :
1. % 3T Yd



2. % YUY gaHH
3. % g™ Yd
4.« G Yd

Question Number : 92 Question Id : 60092913480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U It | Ty forme g &1 SUaiT fhan S S9! uga™ Sifvg|
IW®NR sieR guf wfaq e 8 90 96 $ $3- 8 9ed g

Options :

L%
2.9 |
3.% 1,

4.% |.

Question Number : 92 Question Id : 60092913480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau TTu are 7 fobg favrm g o1 SuanT fovan o I9e) g iU
IR sicx ot wifdd A 8 77 99 58 &= § qem gl

Options :
1% .|
2.9 |
3.% |,

4.% |-

Question Number : 93 Question Id : 60092913481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl & 9, 39 fawed o1 7o 3 o1 3T 70 JeTer & 31 &1 Jd9§ U ¥ oJad Hral o |




Question Number : 93 Question Id : 60092913481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y ¥U ¥ oJad HRal g |
RENNEIRCIREEIREI

Options :

1. % Il afsar sarmn

2. % ffSar uga

3. % fH3l 3 &l Uga=T
4. ¥ eI g

Question Number : 94 Question Id : 60092913482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fawen &1 997 & S fou U geTark & 31 ol Ya9% U § odad Rl g |

CARIRESIEI
Options :

1. ¥ Id g oIl
2. % i g ST
3. % b oIl

4. % QIR Gl ST




Question Number : 94 Question Id : 60092913482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fawen &1 997 & 1 fou U geTark & 31 ol Ya9% U § oJad Rl ¢ |

DS HIX ST
Options :

1. ¥ IdY g oIl
2. % i g ST
3. % dp oIl

4. % QI Gl ST

Question Number : 95 Question Id : 60092913483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y U § oJad HRal g |
EIRICECIPCHEIRRE ALY

Options :

1. % e ulRym QA gl fHradt |

2. % T T[S QI §, 3! & B 3¢ od §

3. ¥ ST 3G a1 Bl dal Uiy Ht B3 3R &+t Sord
4. % S 7S WA |, d8) uReye §iar g

Question Number : 95 Question Id : 60092913483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR faweal & ¥, 39 fawen &1 997 &3 7 fou U geTak & 31 ol Ya9% U § oJad Rl ¢ |
EIKICECIPCHEIRRETALY

Options :

1. % Bied Ry A hadm e g




2. % T T[S WIdT §, I & B fde S §
3. ¢ Sl TS a1 81 aal Uy Ht B3 3R & ot Sord
4. % ST WAl &, 981 Uiy BT §

Sub-Section Number : 2
Sub-Section Id : 600929873
Question Shuffling Allowed : Yes

Question Id : 60092913484 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TRIRI I ATFYa® Uq 3R [T Y U4l o1 Tl SaR < |

Td §9IR @i # fasH = AFa Stta ! guid: aRafad &R 331 81 IReg §9 g9k aui & 4 fo7a-1 uRad= uga 900 a8 H =181 g1 U AT fora
aRad= drae sif<d 100 a6 & 71| 3 THR Yol ¥ wrdrect # o fasm SR ufkadd Sufeyd gU § S99 ¥ Sif<i e § gU uikacdH
gl 31fie Heayul § | w98 g & fasm & faera &t 7ifd g @ fiaer gt ST 361 ] | fusa 4 9ol & 9 srgaeaml sk SifaswRi
o 99 31f% Ag@yul e HHeR H1 81 g .

frsd $o a6l § O 39 T &1 ITANT St & YA & H 31 AT 81 711§ o fopaft oft ravrma, Sivn, sraiem & gl da &
MY BT 3R fAURT & HCR I8 B1F Bt Hed1 5l Tal B off Aabe |

HIGeR BT URTY - 3 ) 3NYFH HTEER Pt TS TR oot (1792-1871) 7 Bt 2 TR IHHT I YT I Uga 3ifent &
fIgM g By A T U7 3 d1g HIYER Bl Ugal aR feaid [dygg & J0d fasiell I Td™ &1 Hdl BT [db ™ g3l

THR G H SR BT A1 BT 97 FHR Gd TuHAT i ITofd el 1 8 | FHI TSR] & Sifaierd Hidsy § Hrex faarg &g sk
IR T R 4t &% AT e T Hifa Hrgex & 3frd TN T W1 IdHH § 3R 11 Hrgex BT & 3R Briemd s
g, 3(d: 39b Tax H sRfT g |

Sub questions

Question Number : 96 Question Id : 60092913485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A4 B! fbem ufkafdd o faan
Options :

1. % gRed

2. % f¥=mn

3. % U4



4. fagm=

Question Number : 97 Question Id : 60092913486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARSI 3R SMIHRI T T 31f% Agwyul aiTe™ 6 &1 8T 82
Options :

1. ¥ IR

2. % ¢9d

3. % it

4. % Ui

Question Number : 98 Question Id : 60092913487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MY YR 1 oI fba 1 At
Options :

1. % I AT

2. % oY

3. ¢ T deS

4. % I ad

Question Number : 99 Question Id : 60092913488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR B IcchE-11d ST Jad Ugel fba fovam U
Options :

1. % I Saof

2. ¢ GIHM Gy

3. % e g

4. % GIHM BIARR




Question Number : 100 Question Id : 60092913489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR &1 Hal MNP BT I9 B |
Options :

1. ¢ $YR DI IGFIRl

2. % HR 3R A

3. % HeR 3R fas™

4. % fIETT 3R R

Question Id : 60092913484 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TRITRI 1 YA Ug 31 T T4 Uil 7 It SaR S |

Td g9R @i # fas = Aa Sfta &1 gufa: uRkafdd & f3a1 81 IReg 39 goiR anf # ¥ a1 ufkad= uga 900 a8 & 78 &1 uran o foran

gRacd- dad i~ 100 a8 J 7471 3T THR YU S1ad! RdTect # off [dbr 3R IRad SufRyd §U 8 394 ¥ Sif<IH a2 H gU ukad—

Bl 31fi% Ayl § | v g © fob fosm & fasm &1 1fa g @ FaaR 81t o 36 8 | Usa W oy & aefAes et $iR snfassrt

o T 31f% Agayul ANTGH HHIR B8l 6| .

fU5d & aul & a1 39 I BT ITANT olia- & YD &5 H a1 T g1 71 ¢ fob fot +t IaiT=matn, ST, S o g8l b (o

MY BT 3R fAURT & HCR {98 811 Bt Hed1 5l el B! off Fave |

HIR BT URTY - o <l 3MYFTH IR B AT TR daiol (1792-1871) A B 2 TRg THHT Ieera-1d YT o Ugal SHReT &

fagM UM BieaiRY A fodr UT| $9h 91g HIR &l Ugdt IR faaid faygs o Iud fasiell ¥ 9™ ! Hdl &1 fabr gafll

THR SR H SR DI o1 BT 97 AR Gd Ter=H1 it Toita i 1 3 1 9o SR} & sifaRed Hidwr # fdarg gd oits

?ﬂwﬁgﬁmmwﬁﬁ%¢%ceéaﬁd TN &1 R aH § 3R alifch HIER BT & R BRI 3iferw
, 3d: |

Sub questions

Question Number : 96 Question Id : 60092913485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A4 ! fam ufkafdd = feam

Options :



1. % gRyg
2. % REar
3% U

4. ¢ fag=

Question Number : 97 Question Id : 60092913486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A SHUMY 3R SMIshRY & Jad 31fi% Heyul aNTeH ford &1 3T 82
Options :

1. ¢ IR

2. % 9

3. % didl

4. % Ui

Question Number : 98 Question Id : 60092913487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3{1YfIeh B B AlorT fobar bt Ui
Options :

1. % €IS AfeH

2. % 7O

3. ¢ AT g9l

4. % T AT

Question Number : 99 Question Id : 60092913488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR BT Ieaha-11d ST Jad Ugal fba fosam U
Options :

1. % 91 dos

2. ¥ M IINY




3. % I Aqd
4. % BIHH BIAR

Question Number : 100 Question Id : 60092913489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR &1 Hgl XMSb BT I BN |

Options :
1. ¢ SR B ST
2. % HR 3R A

3. % HEgex 3R fawm
4. % fqHN 3R HHR
Disciplinel
Group Number : 6
Group Id : 600929573
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 600929728
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929874
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 60092913490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The property that will define the stability for the coordination complexes:
Options :

1. # Dissociation

2. ¥ CFSE

3. # Interaction

4. # Hydrogen bond

Question Number : 101 Question Id : 60092913490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 0T 1l SUNEHAISId I o forg R oI aRHIfd B 98 1 82
Options :

1. % fagre

2. ¢ Y UH.THF. (CFSE)

3. % URWRSD UHA

4, % QIS &Y

Question Number : 102 Question Id : 60092913491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the relation between formation constant and instability constant?



Options :

1. % Directly proportional
2. ¥ Inversely proportional
3. # Difference of one

4. # Summation by 1

Question Number : 102 Question Id : 60092913491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmior RIS SR ®iia fRRiw & o 1 deiy 52
Options :

1. % SIHHTUTAT

2. ¢ Hh AU

3. % U BT 3R

4. % | I8P

Question Number : 103 Question Id : 60092913492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The reactive intermediate which contain single unpaired electron in their outermost shell is

Options :

1. # carbocation
2. # carbanion
3. % carbon

4. ¥ free radical

Question Number : 103 Question Id : 60092913492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

siftifgparsiil Hegadf S 37 STEIqH BIY H Thd Saae fewrd 8, 98 g

Options :



1. % HIEIDH
2. % HIE-FHUMA
3. % Hle

4. ¢ Had b

Question Number : 104 Question Id : 60092913493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reactive intermediate with positively charged ion is known as
Options :

1. ¥ carbocation

2. % carbanion

3. % carbene

4. % free radical

Question Number : 104 Question Id : 60092913493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YHTARIT ST & 1Y SHfferareie Aegadf & & U & AT ST B |
Options :

1. ¢ BIENHRUT

2. % PHIaH-BUMIT

3. % BHeH

4. % Hdd HdP

Question Number : 105 Question Id : 60092913494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the total energy of localized benzene as per the huckel molecular orbital theory?
Options :

1. % 20+2p



2. % 4o+ 4P
3. 60+ 8B
4. % 8o+ 8P

Question Number : 105 Question Id : 60092913494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3NN Hefld Rigid & SR R Sofi &1 ot Frolt fbet 8l 82
Options :

1. % 2a+2B

2. % 4o+ 4B

3.9 60+ 8B

4. % Ba+ 8P

Question Number : 106 Question Id : 60092913495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The quantum number having values in the form of +1/2 and -1/2 is
Options :

1. % Azimuthal

2. % Magnetic

3. % Principal

4. ¥ Spin

Question Number : 106 Question Id : 60092913495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

+1/2 3R -1/2 &Y et B A W dTch Sicd = gl
Options :

1. farii

2. % Y



3. % T
4. & TP

Question Number : 107 Question Id : 60092913496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If value of I = 3 then maximum number of electron can occupy subshell is
Options :

1.¥ 14

2.% 7

3.% 11

4. % 4

Question Number : 107 Question Id : 60092913496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 1= 3 8 A IUDI A gaide DI SHfdan T RRSELIR]
Options :

1.¥ 14

2.% 7

3.% 11

4. % 4

Question Number : 108 Question Id : 60092913497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Define the orbital address forn =3 and 1 = 1.
Options :

1. * 2s

2.9 3p

3. % 3s

4. % 2p



Question Number : 108 Question Id : 60092913497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

n=3 3R 1= 1% o Hefia gar Ry &< |
Options :

1. % 2s

2.9 3p

3. % 3s

4. % 2p

Question Number : 109 Question Id : 60092913498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which amongs the following is the linear point group?
Options :

1. & CIT

) Coy

3 ® Doy

4u":1

Question Number : 109 Question Id : 60092913498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed & 4 o a1, e fdg a9s 32

Options :



Question Number : 110 Question Id : 60092913499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the point group of water molecule?
Options :

Question Number : 110 Question Id : 60092913499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & 310 1 fig THE 1 22

Options :

1.« CET



Question Number : 111 Question Id : 60092913500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The symmetry operation that never does not change the position of the element is

Options :

1. # Rotation

2. # Inversion
3. % Reflection
4. ¥ Identity

Question Number : 111 Question Id : 60092913500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tufafa wfsar o da @ fRUf3 B Faft 7 aeat 8, 9% gl
Options :

1. % goiq

2. % FobH

3. % TRIEdA

4. AgHd

Question Number : 112 Question Id : 60092913501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the value of absorption frequency for C=C bond in the IR spectrum?
Options :

1. ¢ 1680-1600 cm™!

2. % 1750-1725 cm™!

3. % 1845-1820 cm™!

4. % 1000-600 cm™!

Question Number : 112 Question Id : 60092913501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MT8.31R. (IR) WaeH T C=C 3 & forg 3favad WaeH &1 {1 1 g2
Options :

1. ¥ 1680-1600 cm’!

2. % 1750-1725 cm’!

3. % 1845-1820 cm’!

4. % 1000-600 cm™!

Question Number : 113 Question Id : 60092913502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the range of the fingerprint region in the IR spectrum?
Options :

1. % 2000-3600 cm™!

2. ¢ 600-1400 cm’!

3. % 1000-3000 cm!

4. % 600-1000 cm™!

Question Number : 113 Question Id : 60092913502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{T3.31R. (IR) WaeH H SAfASTT &F HT IR F1 82



Options :

1. % 2000-3600 cm™!
2. ¥ 600-1400 cm’!

3. % 1000-3000 cm™!
4. % 600-1000 cm™!

Question Number : 114 Question Id : 60092913503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the expression for the specific heat?
Options :

| v Q=mcAT

C=mqTl

2. %

Question Number : 114 Question Id : 60092913503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRry Iemr & o sdoies o 82
Options :
| v Q=mcAT

,» » C=mqT



4. ® B dU/dT

Question Number : 115 Question Id : 60092913504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The expression for the First Law of Thermodynamics is
Options :

| % 9=w-U

2. % AU=4q

3 o AU=q-W

4% W=q

Question Number : 115 Question Id : 60092913504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHNIAD! b YUH e 1 Hoh 2
Options :
| % 9=w-U

2. x AU=q

3 o AU=q-W



wW=q

Question Number : 116 Question Id : 60092913505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of the work during the free-expansion of the gas?

Options :

1.8 W= -PdV
y w=1

3 %8 W=-1
4.« W=10

Question Number : 116 Question Id : 60092913505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 & Yod-UR & SR fobd 70 1 &1 71 a1 82

Options :

1. % W= -PdV
8 w=1

3 8 W=-]

4. v W=0



Question Number : 117 Question Id : 60092913506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iron storage in body takes place in the form of
Options :

1. ¥ ferritin and hemosiderin

2. % siderophores

3. # cubane

4, % oxidase

Question Number : 117 Question Id : 60092913506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RR T TRA BT USRI FEUHEAISI
Options :

1. ¢ BRI SR gHNSSRA

2. % YIESUBRY

3. % e

4. % 3feitesl

Question Number : 118 Question Id : 60092913507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The oxidation state of Co in vitamin B12 is
Options :

1. %2

2.9 3

3. % 1

4. % 0

Question Number : 118 Question Id : 60092913507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e B12 H Co BT SHTRABROT SfaRT g
Options :

1. %2

2.¥ 3

3.% 1

4. % 0

Question Number : 119 Question Id : 60092913508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The structure of vitamin B12 is based on
Options :

1. # Cube

2. # Closed structure

3. ¢ Corrin ring

4. % Porphyrin ring

Question Number : 119 Question Id : 60092913508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeT®A B12 &1 W R TTRA B
Options :

1. % Yq

2. % gqd Gl

3. ¢ BIRA T

4. % I R

Question Number : 120 Question Id : 60092913509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



is defined as a form of cycloaddition across the terminal atoms of a fully conjugated system with formation of two new sigma
bonds to a single atom of the ("monocentric") reagent.

Options :

1. # Redox reaction

2. % Chelotropic reaction
3. # Electrocyclic reaction

4. % Elimination reaction

Question Number : 120 Question Id : 60092913509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& I oRE J TGfHrd el & <fifaa wRumpeh § WSS yH & U U & U § uluiida fear man §, o
(RIS 3ifidHed & Ueh TR & e &Y 1T R 91 &1 € |
Options :
1. % TSI sffHfchar
2. ¢ TICIUD SffHfchar
3. % goacraTgiaad ififear

4. % JcIe SAfHiHAT
Discipline2
Group Number : 7
Group Id : 600929574
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline2

Section Id : 600929729
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929875
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 60092913510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reaction takes place between Diene and Dienophile under thermal condition is known as
Options :

1. ¥ Diels-Alder reaction

2. % Ene reaction

3. # Sigmatropic shift

4. % Electrocyclic reaction

Question Number : 121 Question Id : 60092913510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3135 3R SHIGIEA & g drdlg Ia®IT & dgd 8- arell iffear & ¥U H S Sl g
Options :

1. ¢ SI-Uee Sfifehar

2. % T 3ifNfear

3. % Rrrgifte Rige

4. % FAgCrTSiadd sfufdar




Question Number : 122 Question Id : 60092913511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The reactions in photosynthesis that are taking place in the absence of light is known as

Options :

1. # Chemical reaction
2. ¥ Dark Reaction

3. # Dim Reaction

4. % Short reaction

Question Number : 122 Question Id : 60092913511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Afiferar S yebrer Bt SuiRIT A IR R, Hgan gl
Options :

1. % IS 3iftifchar

2. ¢ 3l 3ifHfshan

3. % Hg Uik

4. % 31y T

Question Number : 123 Question Id : 60092913512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why Neutron Diffraction method is used in Engineering?
Options :

1. ¥ Evaluate micro-residual stress in components

2. # Find the flaws in components

3. # labelling Crystal

4. % Deduce the structure

Question Number : 123 Question Id : 60092913512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A (Gshfrafer) & et faad fafy &1 uam CANMEIGIN
Options :

1. ¢ e H YeH-3afy ufded o1 gedic

2. % gcp] U W] BT 3f-au0]

3. % qiafei fored

4. % IIIAT BT FHTA

Question Number : 124 Question Id : 60092913513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the expression for the Bragg's Equation?
Options :

|« 2d sinf = ni
> % dsinf =nn
3 % 4dsinb =nAi

4 % n=dsinb

Question Number : 124 Question Id : 60092913513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST FHIhRUI & foTu stites &R &2

Options :
1« 2d sinf = ni

> % dsinf =na



3 % 4d sinb =nk

4 % n=dsinb

Question Number : 125 Question Id : 60092913514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rapid transition of electron that vibrating molecule do not changes its internuclear distance is known as
Options :

1. ¥ Franck-Condon Principle

2. % Stark Effect

3. ¥ Raman Effect

4. # Rayleigh effect

Question Number : 125 Question Id : 60092913514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAGE I BT @A TehHUT Ol U B aTel S(U] DT AR g3l bl Ta| 9Gadl o, & U H THE A8
Options :

1. ¢ - pieH Rigid

2. % Wb YHTd

3. % [HAYHIG

4. % A UYTG

Question Number : 126 Question Id : 60092913515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The stable equilibrium point of an object of mass ‘'m’ moving under the potential

V(X)=4x-5x21is



Options :
1.*0

2.9 5+6
3.%6+5
4. % 2+7

Question Number : 126 Question Id : 60092913515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
s V(x) = 4x° - 5x* F 3l TTfAAT gegAT ‘m’ ATl R avg w1 R amewn g, gl

Options :
1.*0

2.9 5+6
3.%6+5
4. % 2+7

Question Number : 127 Question Id : 60092913516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A particle of mass ‘m’ and energy ‘E’ is confined in the ground state of one dimensional infinite potential box of length ‘L’. The probability of
finding the particle in the region 0 to L/2 is

Options :
1. % 1
2.90.5
3.% 1.5
4. %0

Question Number : 127 Question Id : 60092913516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘m’ G 3R ‘E’ Soll 9Tl U Ul ‘L’ &S aTdl Ueh ey Sraifard Tie iR STad &1 e ST H AT 10 T L2 & & H BT




[ESEEIRIIRESI] gl g
Options :

1. %1

2.90.5

3.% 15

4. %0

Question Number : 128 Question Id : 60092913517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The time-energy uncertainty relation is
Options :

1.« AEAt>Fi+ 2

> % AEAt=Hh+2
3 % AEAt>h+2

4 % AEAt<h

Question Number : 128 Question Id : 60092913517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG-St AT ey g g

Options :
| v AEAt > 7 + 2

5 % AEAt=h + 2

3 % AEAt > i + 2



4 % AEAt </

Question Number : 129 Question Id : 60092913518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The baryon number of electron and proton is
Options :

1.4 0,1

2.% 1,0

3.% 0,0

4. % 1,1

Question Number : 129 Question Id : 60092913518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 3R Uie &t afkaii— w9 gl &1
Options :

1.+ 0,1

2.% 1,0

3. % 0,0

4. % 1,1

Question Number : 130 Question Id : 60092913519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The chemical potential of photon is
Options :

1. %1

2. %05

3.0



4. % 15

Question Number : 130 Question Id : 60092913519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIeld &1 I fava G
Options :

1. %1

2.% 0.5

3.0

4. % 15

Question Number : 131 Question Id : 60092913520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When x? = x? - t2 > 0, then the region of space-time is
Options :

1. # Space like

2. % Light like

3. % Both time and space like

4. ¥ Time like

Question Number : 131 Question Id : 60092913520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FTxE=x- 12> 0, aF e F7 &7 g gl
Options :

1. % fdop & qqH

2. % UPHIR & JHM

3. % PH1d IR AP gHl & JHH

4. ¥ DA & GHH



Question Number : 132 Question Id : 60092913521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electronic configuration of nitrogen atom is 1s? 2s* 2p* 3d!. What is the degeneracy of excited state of nitrogen
atom?

Options :

1. %5

2. %20

3.410

4. % 15

Question Number : 132 Question Id : 60092913521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ABEIST TLATU] T Soldgiioter aedry 1s? 2s® 2p® 3d" &1 ATSEISTe ILAIU] Hr Scford HaEaT Hi
e (o) Far 22

Options :

1. %5

2. %20

3.410

4. % 15

Question Number : 133 Question Id : 60092913522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The lande g factor of the spectral term 381 1s
Options :

1. %1

2.9 2



3. %3
4. % 4

Question Number : 133 Question Id : 60092913522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

quightiia (Waed) Ue 33, BT TS ¢ BRB GG
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 134 Question Id : 60092913523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many OR gates are required to realize Y = AB + CD + EF?
Options :

1.9 2

2.% 3

3.% 4

4. % 1

Question Number : 134 Question Id : 60092913523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y = AB + CD + EF ®! U ®R & oY fdha= OR 1eq Bt STaRgehdl Bl 82
Options :

1.2

2.% 3

3.% 4




4. % 1

Question Number : 135 Question Id : 60092913524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nuclei which have same atomic number but different mass number are called as
Options :

1. # Isobars

2. # Isotones

3. % Isotopes

4. % Mirror nuclei

Question Number : 135 Question Id : 60092913524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y TSt URUTY] TReAT W Bl 6 | Afes ST et i gictt, &1 CaASIGI
Options :

1. % FHers

2. % QA (FHYGID)

3. ¢ YARITHS

4. % Ydig e

Question Number : 136 Question Id : 60092913525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The density of lattice points (per m?) in 200 plane in simple cubic is (given a = 1A)
Options :

| v 0.5x 10%

> % 0.5x 102



3 % 0.5x 104

4 % 0.5x10%

Question Number : 136 Question Id : 60092913525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & H 200 THAS | e (4G 3Tt &1 8- (Ufd m3) fa1 gt 82 (@ g a = 14)

Options :
| v 0.5 x 1020

, % 0.5 x 1021
; % 0.5 x 101°

4 % 05 x 101°

Question Number : 137 Question Id : 60092913526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The width of the central maxima depends on
Options :

1. % wavelength of the light only

2. ¥ wavelength of the light and width of the slit
3. # width of the slit only

4. # independent of wavelength of light

Question Number : 137 Question Id : 60092913526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Jod Afeqar Bt dIsTs R R BRI
Options :

1. % Had UbT P aueed

2. ¢ BT B e 3R RR ((Ke) B AeiE

3. % PHad IR () ot AerE

4. % UHIA B a0 e § Yo

Question Number : 138 Question Id : 60092913527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the transverse wave, displacement of the each point is always
Options :

1. ¢ at right angle to the direction of propagation of the wave
2. % in the same direction of the propagation of the wave.

3. # in the x-y plane

4. % in the z-y plane

Question Number : 138 Question Id : 60092913527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T H, U foig &1 fawimu= gaen HGIE

Options :

1. ¢ T & TRTR01 Pl SR & THBIU TR
2. % T & YR B gAH femm

3. ® x-yw'ﬁf

4, % z-yw'ﬁf

Question Number : 139 Question Id : 60092913528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What is the value of 50 micron in nm?
Options :

1. # 500 nm

2. % 5000 nm

3. % 50000 nm

4. % 0.5nm

Question Number : 139 Question Id : 60092913528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
50 micronﬁmnmﬁmm%?
Options :

1. # 500 nm

2. % 5000 nm

3. % 50000 nm

4, % 0.5nm

Question Number : 140 Question Id : 60092913529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many number of carbon atoms in the bucky balls?
Options :

1. #® 20

2. ¥ 60

3. % 45

4. %70

Question Number : 140 Question Id : 60092913529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

! A& (bucky balls) T fd= w1 TRHATY B 82



Options :

1. * 20
2.9 60
3. % 45
4. %170
Discipline3
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Group Id : 600929575
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Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 600929730
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes



Question Number : 141 Question Id : 60092913530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The molecule which is Raman inactive is
Options :
1.« CO

7 # Ho»
3. % Y0

4. % N2

Question Number : 141 Question Id : 60092913530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ag 3] S T FAfSpa R9A ufded) g a8 gl
Options :

.v CO

Question Number : 142 Question Id : 60092913531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In He-Ne Laser, population inversion is achieved by



Options :

1. # He only

2. ¥ Ne only

3. # both He and Ne

4. # first by He and then by Ne

Question Number : 142 Question Id : 60092913531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

giferoy-fai ToR #, Jafd ufaeae ([argaeE gaei) SR UTW fhar Sar g |

Options :

1. ® Had He
2. ¥ HAd Ne
3. ® He\’rﬁTNea:ﬁ

4. % Ugd He gRT 3R 3T® §1¢ Ne gRT

Question Number : 143 Question Id : 60092913532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Elementary particle physics is also known as
Options :

1. % Low energy physics

2. ¥ High energy physics

3. ¥ Moderate energy physics

4. % Slow energy physics

Question Number : 143 Question Id : 60092913532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS B it B & &0 # i ST ST B

Options :



1. % g 3o Wifae!
2. I Soll Hifde!
3. % HYH Sl Hifde!
4. % it ot Hifqe!

Question Number : 144 Question Id : 60092913533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The quantum of lattice vibration is called as
Options :

1. # Photon

2. ¥ Phonon

3. % Polaron

4. % Plasmon

Question Number : 144 Question Id : 60092913533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STd HU & HicH B EIHRSIGI
Options :

1. % BIcH

2.« BHH

3. % UIARHA

4. % WGHA

Question Number : 145 Question Id : 60092913534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the fourth state of the matter?
Options :

1. # Solid



2. ® Liquid
3. #* QGas
4. % Plasma

Question Number : 145 Question Id : 60092913534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T @t At srawT T Bt B
Options :

1. % 3

2. % gd

3. % 79

4.« WIANGHT

Question Number : 146 Question Id : 60092913535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Habitable zone is also known as the

Options :

1. ¥ Goldilocks zone
2. % Ursa major zone
3. % Porridge zone

4. ¥ Apogee zone

Question Number : 146 Question Id : 60092913535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IFANY & (gfaead T) &) & =uH SIS |
Options :

1. ¢ e Iaiad o

2. % IUf AoR T




3. % OISl ol
4. % 3(OISN Sl

Question Number : 147 Question Id : 60092913536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The force between the two charges q, 2q placed at distance (0,0) and (a,0) is

Options :
| % @ (4meoa’)

5 @ 27 (4me0a?)
3w 3Q° T (4neoa’)
q* + (meoa?)

Question Number : 147 Question Id : 60092913536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(0,0) 3R (a,0) P G TR TW MY &I AR q, 2q F o1 BT §d gIar gl

Options :
2 = 4 2
1. # q - ( TEpd }

5 v 29° + (4mea’)
3 % 39 + (4mepa’)
2

4. % 9 (eo@”)



Question Number : 148 Question Id : 60092913537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the example of Unipartite network?
Options :

1. ¥ Buyer/product

2. # Social networks

3. # Firms

4. % WWW

Question Number : 148 Question Id : 60092913537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforafa # 9 & 91 te Ui (gHiurelze) Aead &1 3eexu T8t 82
Options :

1. ¢ dl/Idle

2. % G Aedh

3. % Ry

4. % WWW

Question Number : 149 Question Id : 60092913538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When f(-x,c) = -f(x,c) i.e. function f(x,c) is odd and equilibrium point is at x = 0, then the bifurcation is called as
Options :

1. # Transcritical bifurcation

2. ¥ Pitchfork bifurcation

3. % Fold bifurcation

4. # Ordinary bifurcation



Question Number : 149 Question Id : 60092913538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f(-x,¢) = -f(x,c) T BT f(x,c) fTTH B 3R Fgar faig x = 0 W &Y, A fguo &t CIRSISI]
Options :

1. ® Tihfedd fgumH

2. ¢ Ui fguTeH

3. % Thics fgHTeH

4. % JIYRU fgHToH

Question Number : 150 Question Id : 60092913539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The duality which is equivalence of two theory such as string theory or quantum field theory is
Options :

1. # D-duality

2. # N-duality

3. % T-duality

4. ¥ M-duality

Question Number : 150 Question Id : 60092913539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &d (SUfereh) it &) Rigid 9 b v i) o wiew &7 Rigid &1 nqeudi g, 2
Options :

1. % g-gd (D-Fufereh)

2. % TY-gd (S-gufereh)

3. ¢ g (T-gufereh)

4. % TH-gd (M-ZUferdh)

Question Number : 151 Question Id : 60092913540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Object Oriented Programming (OOP) is a programming paradigm that relies on the concept of:
Options :

1. ¥ classes and objects

2. # procedural programming

3. % structural programming

4. % semantic web

Question Number : 151 Question Id : 60092913540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

isside MRS TRAfET (0OP) T TRNTERT ufaw= & S Fafafed &t srguron wR Ak R g:
Options :

1. ¥ FARN 3R 3fisoiae

2. % TSRS WA

3. % TR YR

4. % fqfesd a9

Question Number : 152 Question Id : 60092913541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This programming paradigm is used to structure a software program into simple, reusable pieces of code blueprints, which are used to create
individual instances of objects.

Options :

1. % Intelligent programming

2. ¥ Object Oriented Programming (OOP)
3. #¥ Procedural programming

4. ® Structural programming

Question Number : 152 Question Id : 60092913541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

foo TMTET UfaaT BT ST Udh At daR URITH &1 Sfisoided ol SeT-3felT STRIT (IRe-4) I & ol 3T W, Bis «ffiic &
Taog gl H IR (eaRR) fowar Sirar 82

Options :

1. % geforole grmfHT

2. ¢ 3fisside NRUCS WU (00P)

3. ® URdioRd wrmfHT

4. % TaRRd WUTET

Question Number : 153 Question Id : 60092913542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
objects can often be characterized by integers whereas objects require real numbers
Options :
1. * Continuous; Discrete
2. % Discrete; Continuous
3. # Continuous; Virtual

4. % Virtual; Continuous

Question Number : 153 Question Id : 60092913542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I3 DI SRR YUTieh gRT SMN@ferd fbar <1 Tebar g Safd T3 Dl IRaAfaP TS H1 IRIH T8Il &
Options :
1. % {dd, ddd
2. % 3Ydd; ddd
3. ® Jdd; MU
4. % YR, Fd

Question Number : 154 Question Id : 60092913543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Mathematical programming models have been demonstrated to be useful analytical tools in optimizing:
Options :

1. ¥ Decision-making problems

2. % Linear problems

3. * Nonlinear problems

4. % Discrete problems

Question Number : 154 Question Id : 60092913543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T wenfET Aisd oI ¥ 3pa A ITART faRavuITers IR0l & U B JHTord forar mar g |
Options :

1. ¢ f0f o 1 gewn

2. % AP gERA

3. % SRRAS THR

4, % Add gHAT

Question Number : 155 Question Id : 60092913544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was first proposed in 1947 and has been widely used in solving constrained optimization problems?
Options :

1. % Nonlinear programming

2. % Linear programming

3. ® Pair programming

4. % XP programming

Question Number : 155 Question Id : 60092913544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad & 9 ford ugell IR 1947 & URafad o T o1 3R f9a=T srger THanstl &) §d - | U &9 ¥ YA a1 a1 82




Options :

1. % 3RRI®H TrRnfE
2. « IR TR
3. % g YIuTfHT

4. % TGO ufHT

Question Number : 156 Question Id : 60092913545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A proper computer system architecture should performance and costs as well as power consumption.
Options :

1. ® reduce; maximize

2. ¥ maximize; maximize

3. ¥ maximize; reduce

4. #* minimize; reduce

Question Number : 156 Question Id : 60092913545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% 3RId e Ren sifdeawr o TR 3R AT o A1Y-7Y farotett o1 wud +f g =gl
Options :

1. % DA, 3Hfhad

2. % 3fHdH; fYwHa

3. ¢ 3ftrpaH; A

4. % fgaH; ®H

Question Number : 157 Question Id : 60092913546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a genre of non-fiction writing that encompasses technical materials such as manuals, instructions, specifications, and
software documentation?



Options :

1. # Incremental writing
2. % Report writing

3. # Vocational writing

4. ¥ Technical Writing

Question Number : 157 Question Id : 60092913546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HYR AG (A-raRH ) B T et & o A, Searry, WRheeH 3R AiteddR TeRa- okl dd-id! Jrl
RIIERE]
Options :
1. % glhHCd I
2. % RUré wgfén
3. % QbR ASIC

4. ¢ Cfaema sfen

Question Number : 158 Question Id : 60092913547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Technical communication is and it entails a purposeful transaction between sender and receiver that provides specific information
for practical and specific purposes.

Options :

1. ¥ transactional
2. # evolutional
3. % gpiral

4. * incremental

Question Number : 158 Question Id : 60092913547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

d-a) TER (i1 srgFPT) & TR 399 Uueh SR REfiaR & o9 U I xaqul HRI-HUTeH 81l § S A1agTRe 3R



fafery Sewal & forw fafy SFeR ueH HRar s |
Options :

1. ¢ YHdER (SIola=d)

2. % gl (TAIRH)

3. % gt (Wsad)

4. % qifdfep (gfHHea)

Question Number : 159 Question Id : 60092913548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The or of an algorithm relates to the resources required by it, such as how quickly it will run, or how much computer
memory it will use.

Options :

1. % Precision; Recall

2. % Number of variables; Performance
3. # Efficiency; Number of modules

4. ¥ Efficiency; Performance

Question Number : 159 Question Id : 60092913548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qﬁﬂﬁ% 1 2P oY 3MTages SaTeH! ¥ Yafeid g, ok for I8 fordiT Sied! =reiv, I1 I8 forait digex HHRT &l
I |

Options :

1. % fOR=E; Rela

2. % TR (ARNTs) 3t T, fAwareq
3. % G&fdl; Hisyd S G

4. ¢ e, fAwreA

Question Number : 160 Question Id : 60092913549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following term is used to denote a particular way of organizing data for particular types of operation?
Options :

1. # Memory segment

2. % Memory page

3. ¢ Data structure

4. # Control loop

Question Number : 160 Question Id : 60092913549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁyﬁé@aﬁﬁ%ﬂmewWWw%W%W@aﬁm@mmﬁ%wm%ﬁﬁwﬁ%mm
STl 82

Options :
1. % AR WHS
2. % AERI O
3. STATLFRR
4. % BHra
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Question Number : 161 Question Id : 60092913550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SQL is a programming language used by nearly all to query, manipulate, and define data, and to provide access control.
Options :

1. # Cloud databases

2. % Columnar databases

3. ¥ Relational databases

4. # Key-value databases

Question Number : 161 Question Id : 60092913550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SQL TS T HToT 8 Forest STt e g+t GRT, TS, faesH 3R e &l uRUTd HRA 3R TaIY Held UM HA
¥ fou fear Srar g1

Options :

1. % FASE Scldy

2. % HIYHAR Sy
3. ¢ Re3Fd Sered




4. % Pl-dcg STy

Question Number : 162 Question Id : 60092913551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Data within the most common types of databases in operation today is typically modeled in in a series of tables to make processing
and data querying efficient.

Options :

1. # Modules

2. ® Segments

3. % Rows and columns
4. ¥ Maps

Question Number : 162 Question Id : 60092913551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T & Y=ITE H o AT UHR & Serey & difd SeT of, MARAT 3R ST & (query) P! g&f 91 & fw drfereraft &) tes TR o
o AR WR AiSfeT foram ST g |

Options :

1. % Hieded

2. % Ty

3. ¢ IV 3R DI

4. % Ao

Question Number : 163 Question Id : 60092913552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The outcome of software engineering is a(n) software product.
Options :

1. ¥ efficient and reliable

2. % complex and trustworthy

3. * highly complex



4. # highly programmed

Question Number : 163 Question Id : 60092913552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR olifafeT &1 afkom T TICdR TS 3|
Options :

1. ¢ &l 3R fasaig

2. % Sfed 3R RS

3. % JfYe Sfed

4. % YD YIS

Question Number : 164 Question Id : 60092913553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an engineering branch associated with development of software product using well-defined scientific principles,
methods and procedures?

Options :

1. # Software Project Management
2. ¥ Software engineering

3. ¥ Communication networks

4. ¥ Digital Communication

Question Number : 164 Question Id : 60092913553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o O ue SoifaaiT wrar 8 ot 3t ave § uRyita axne Rigial, faftal sik ufsharait &1 ST #db Irucair
IdE & faem I St 5

Options :

|. % FedqR Wvlae AoiHe

2. ¢ FUCaUR SolanTT

3. % HRIFAGRA Acdd




4. % fefSicd drgfHHTH

Question Number : 165 Question Id : 60092913554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following task refers to the transmission of digital data between two or more computers?
Options :

1. % Computer Network

2. ¥ Data communication

3. % IoT

4. % Internet of Everything

Question Number : 165 Question Id : 60092913554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraffed 7 B g1 e < a1 @ 3ifdie eR) & o fefied a1 b TRy &) Gefifd Hrarg?
Options :

1. ¥ HYR Acddb

2. ¢ ST HRFAHTH

3. % M. (IoT)

4. % $IAT 3T TR

Question Number : 166 Question Id : 60092913555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The physical connection between networked computing devices is established using either media or media.
Options :

1. % cable; wireless

2. % switches; routers

3. % repeaters; bridges

4. # repeaters; cables



Question Number : 166 Question Id : 60092913555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fead ST JUBIUN & drg Hifde Jee Hifgarar Hifsar 1 TN Hb W forar ST 5|
Options :

1. ¥ HEd; aORY

2. ® &g, a3y

3. % fydied, foors

4. % frdied. ey

Question Number : 167 Question Id : 60092913556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a characteristic of an algorithm?
Options :

1. ¥ Must take an input

2. ¥ Must give some output

3. % Definiteness - each instruction is clear and unambiguous

4. ¥ Infiniteness — algorithm never terminates after a finite number of steps

Question Number : 167 Question Id : 60092913556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ &1 91 Teniyd &1 sifirdeor T8 82

Options :

1. % Teh YC o1 AT

2. % PB 3MICYC AT ALY
3. % P - vl My Wy iR g@y g

4. ¢ 3[FddI - TANRSH RN ! TG T & 1 HH Jud Tl glar g




Question Number : 168 Question Id : 60092913557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Operations such as reducing the probability of unauthorized/inappropriate access to data, or the unlawful use, disclosure, disruption, deletion,
corruption, modification, inspection, recording, or devaluation of information refer to:

Options :

1. ¥ Internet programming
2. % Cyber programming
3. # Information science

4. ¢ Information security

Question Number : 168 Question Id : 60092913557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SCT A® SHAURISS/ZTNUISE TR B! UG Bl HH B, I ARG STANT, T hUT, TG, AT Aol SN,
frteror, SfAQREE, a1 GE1 & SfaHea B! YHTGHT B HH B oI URaTe ol Tefia fear sar 3|

Options :

1. % ge-e U

2. % TZeR YIUTHT

3. % ZABIARE A8y

4. ¥ TTHHYA R

Question Number : 169 Question Id : 60092913558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Automata theory is closely related to:
Options :

1. #® Informal language theory

2. % Formal language theory

3. # Natural Language Theory

4. % Network language Theory



Question Number : 169 Question Id : 60092913558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sficrer Rigid e 9 RESEIRCE
Options :

1. % SFEERG U Rigid

2. ¢ JuaTRes WS Rigid

3. % YTpfde yTeT Rigid

4. % Jead u Rgid

Question Number : 170 Question Id : 60092913559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Automata are often classified by the class of formal languages they can recognize, as in the , which describes a nesting relationship
between major classes of automata.

Options :

1. ¥ Chomsky hierarchy
2. % Turing's hierarchy
3. # Allen's hierarchy
4. % Church's hierarchy

Question Number : 170 Question Id : 60092913559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T B SRR TR HTI3T & T GRT iiepd fohaT STl & for 3 UgaH Ihd 8, o fob H ST Sffeider & ugE 9l &
o9 e AT Teey b1 quf BT B

Options :

1. ¢ TIRh! YaIhH
2. % RI BT UGHDHH
3. % T BT UGHhH
4. % I D UGIIHH




Question Number : 171 Question Id : 60092913560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the program that, after being initially loaded into the computer by a boot program, manages all of the other application
programs in a computer?

Options :

1. ¥ Operating system (OS)
2. #% Compiler

3. % Parser

4. # Linker-loader

Question Number : 171 Question Id : 60092913560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wﬁﬁﬁm%%%@ﬁuﬁww%m@ﬁ%ﬁ%w,a’ﬁta;vﬁ&mﬂlﬂmwmwuﬁm
DHAT 7?2

Options :

1. ¢ TRIET ReH (08)

2. ® HUBER

3. % ORR

4. % fiipRdler

Question Number : 172 Question Id : 60092913561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following system program translates the code written in one language to some other language without changing the meaning of the
program?

Options :

1. % Loader-linker

2. % Parser

3. ¥ Compiler

4. % Operating system (OS)



Question Number : 172 Question Id : 60092913561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ &1 a1 Red T, WU & 31 &1 9ad fo1 U 1T & ford 170 18 &1 gak! U1 H 3dTg SRl 82
Options :

1. ® dreR-fiadR

2. % GRR

3. ¥ DHURR

4. % 3Tqfd Red (05)

Question Number : 173 Question Id : 60092913562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A compiler should make the target code efficient and optimized in terms of:
Options :

1. # Simplicity, Modularity

2. # Efficiency, Modularity

3. ® Precision, Recall

4. ¥ Time and space

Question Number : 173 Question Id : 60092913562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HUTZER b & TeH # A& IS DI g8 SR ITAH I AT
Options :

1. % IRdl, Ufaeudbdl
2. ® &l Ufaeuahdl
3. % URgLgdr, Repld

4. ¢ JUY 3R M



Question Number : 174 Question Id : 60092913563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following system consists of multiple software components that are on multiple computers, but run as a single system?
Options :

1. # Distributed Networks

2. ¥ Distributed Computer System

3. # Distributed File Systems

4. % Distributed Drivers Systems

Question Number : 174 Question Id : 60092913563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 for Reen § o3 TTeddR 9 81d & o s HILR! W BId 3, Afdh Thd Ried & ®0 § Iad 82
Options :

| % RiEps Yead

2. ¢ g s ger ey

3. % STy wsd Rey

4. % feReygce Srear Rew

Question Number : 175 Question Id : 60092913564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The kernel stack has a fixed size. When too much data is pushed upon the stack, an will be generated.
Options :

1. ¥ Overflow

2. # Underflow

3. % Inflow

4. % In-Out flow

Question Number : 175 Question Id : 60092913564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Hd TP BT I T BT § | 56 TP IR 9gd ATIP Sl STaT oIl g, il I gRT/RNT
Options :

1. ¢ IR

2. % ST I

3. % I

4. % 39-313¢ Tl

Question Number : 176 Question Id : 60092913565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cooling of the body after death is called
Options :

1. # Coroner

2. ¥ Algor mortis

3. % Crowner

4. % Livor mortis

Question Number : 176 Question Id : 60092913565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g & 971G IRR BT ST 8T Hgad gl

Options :

1. % g Hied (BRIR)

2. ¥ Yol JTde (@R Aifca)
3. % 3fd M (PISR)

4. % O IS (ARaR HIfew)

Question Number : 177 Question Id : 60092913566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT a duty performed by a forensic pathologist?
Options :

1. #® Determine the apparent cause of death

2. % Determine the identity of the deceased

3. % Determine the removal process of the deceased

4. ® Determine the postmortem interval

Question Number : 177 Question Id : 60092913566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad fasedl # 9 S 91 S =afis (BRRYE) Arfas gR1 FArfad =&Y foar s 82
Options :

1. % g & WF SR BT YR

2. % Tdd &I UgaH &l YR

3. ¥ TAdd &I g DI Uiehal &1 (YR

4, % URCHICH SfeRTd BT FYRUl

Question Number : 178 Question Id : 60092913567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a scenario, where an angry employee puts poison in the tea of his employer to kill him but instead the employer's sister drinks it and dies.

Which of the following manner of deaths is depicted by the above given case?
Options :

1. ¥ Homicide

2. % Natural

3. # Accidental

4. ® Suicide

Question Number : 178 Question Id : 60092913567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U URE H, U RIS HHART 30 e 1 AR & ol 3! I § WigR STadT 8, dfdd fiadl & I WR faiadr &) 98+ @ o
A 8 IR IR ST g1

fraffied & @ ford TR &t gg &1 SR AU 7T Ame & gwifar war g2

Options :

1. ¢ HHdedl
2. % UThidd
3. % 3hIHD
4, % HlHedIl

Question Number : 179 Question Id : 60092913568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following.

Column A Column B

1. Exhumation a. Addition of a preservative chemical to
the body after death

(]

. Rigor Mortis b. Particles of burned and unburned
gunshot residue on the surface of the
target of a gunshot.

3. Embalming ¢. Removal of a body after burial
4. Stippling d. Stiffening of the joints within hours
after death
Options :

1.% 1-a,2-d,3-¢c,4-b
2.% 1-¢,2-b,3-2a,4-d
3. 1-¢,2-d,3-a,4-b
4. % 1-¢,2-d,3-b,4-a



Question Number : 179 Question Id : 60092913568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tm=aeRT = Faa fiEv)

=8 A = B
1. 3cE (TFEEGH) a. g & 916 WR # Ta INIETw W Herran

2. g wiesa (e Aifew) b.dﬁ%?ﬂ?ﬁ’rﬂ:ﬁ’ranﬁrﬁwsmaﬁgaﬁ?ﬁm
STl gk @ ATl & AR

3. Holus (TsaTde) c. THATH F T AT FI HeFToTaT

4. weagar (fBeafenm) d. g & Fo "el & Al AlS! HT JhsaA

Options :

1.%¥1-2,2-d,3-¢c,4-b

2. % 1.¢,2-b,3-a,4-d

3.4 1-¢,2-d,3-2,4-b

4.%1-¢,2-d,3-b,4-a

Question Number : 180 Question Id : 60092913569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following chemical tests is/are used for confirming the presence of blood?

1. Fluorescein
2. Teichmann
3. Takayama

Options :

1. ¥ Both 2 and 3
2. % Both 1 and 2
3. %* Both 1 and 3



4. # Neither 1, 2 nor 3

Question Number : 180 Question Id : 60092913569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ ®F 1 IMrfAe uterun Yad ot ufedfd &t g & fore Iudi fear Srar g2

1. TRARRH
2. T
3. dIhTITHT
Options :

1. ¢ 2 3R 3 Al
2. % 1 3R 2 gl
3. % 1 3R 3
4. % 1,2 3R 3AY PIs Ta!
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Question Number : 181 Question Id : 60092913570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What must be the blood type if Anti-A antibodies are added to a blood sample and no agglutination occurs, but it does occur when anti-B
antibodies are added?

Options :
1. % A
2. % AB
3.B
4.% 0

Question Number : 181 Question Id : 60092913570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Xad o T H UST-A TETTS! Sl SId § 3R s Tqg (Tfc=M) g1 a1dl §, fde od Uel-B Ufdfte Siie oM WR WigH gidl ©, af
d BT UHR 1 g1 dAlgy?

Options :

1. % A

2. % AB

3.B

4.% 0




Question Number : 182 Question Id : 60092913571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following dyes are used for the microscopic visualization of sperm cells?

1. The Brentamine Fast Blue B reagent
2. Nuclear Fast Red dye
3. Picro indigo carmine dye

Options :

1. ® Only 2

2. ¥ Both 2 and 3
3. % Both 1 and 2
4. % Both 1 and 3

Question Number : 182 Question Id : 60092913571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IHTU] HIRABTSH DI = BMR 971 & I2=T W 5 uierur o1 IuanT fava ST g2

1. SIS BRE & B AYHHD
2. HTR BRE XS S5

3. foepl S A 818
Options :

1. % Pad 2

2. ¢ 2 3R 3 A

3. % 1 3R 2gH

4.% 1 R3S

Question Number : 183 Question Id : 60092913572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the CORRECT definition of Substrate Control?
Options :



1. ¥ A piece of material on which biologic evidence has been deposited
2. % Method of DNA typing using short length polymorphs
3. % Addition of DNA primers in PCR to begin the replication process

4. # Samples of DNA from someone who might have handled biologic evidence during collection and analysis

Question Number : 183 Question Id : 60092913572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frige (Feuce) PR ) |} uiyy 1 32

Options :

1. ¥ G &1 T ¢ el ol R Sfdeh 1ed ST foh T ST &

2. % B! AGTS DI TgE IS (UTCTHITR) BT ST HReh o1.TA.U. (DNA) TS &1 fafdy

3. % Tfdeid ufthdr & A & o ISR, (PCR) H SLUAT. (DNA) URHE (WZHI) DI SISl

4. % Pl U8 =fdq & ST (DNA) S T 59 T8 3R fazavor & SR Sifae T1ed &1 GHIar &l

Question Number : 184 Question Id : 60092913573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Siblings in a family share the same mitochondrial DNA with which of the following family member(s)?

a. Mother

b. Maternal Grandmother
c. Father

d. Paternal Grandmother

Options :

1. % Bothaand c
2. ¥ Bothaand b
3. % Bothcandd
4. % Bothbandc

Question Number : 184 Question Id : 60092913573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foreft ufaR 921 & eier FRgfafed & 3 uRkar & fa/fe Sewaewl @ Qe ST (Ageis sad DNA) T $Rd /2

a. HIdI

b. T

c. fuan

d. ardl
Options :

1. % a 3R cgHl
2. ¢ 2 3R b gHl
3. % ¢ 3R dGHl
4. % b 3fR c gHI

Question Number : 185 Question Id : 60092913574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following processes is/are part of DNA amplification?

1. Annealing
2. Extension
3. Elimination

Options :

1. #* Both 1 and 3
2. % Both 2 and 3
3. ¥ Both 1 and 2
4. % All three

Question Number : 185 Question Id : 60092913574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed 7 ¥ o O ufbarufsad .u.T (DNA) UaeH &1y 8/8?

1. g



2. fawaRu
3. f[adgq

Options :

1. % 1 3R 3 A
2. % 2 3R 3 Ml
3.¢ 1 3R 2 Ml
4. % gyt dH

Question Number : 186 Question Id : 60092913575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Example of DNA sources is/are:

a. Toothbrushes
b. Pillows
c. Red blood cells

Options :

1. ¥ Bothaandb
2. % Bothaandc
3. % Bothbandc
4. #* All three

Question Number : 186 Question Id : 60092913575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SlT7.T (DNA) Fidl T IS0 1 3782



3. % b 3R ¢ gl
4. % gt d=

Question Number : 187 Question Id : 60092913576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the method is used for the estimation of PMI if the death has taken place within twelve hours of being discovered?
Options :

1. # Rigor mortis

2. # Bloating

3. % Algor mortis

4. # Insect activity

Question Number : 187 Question Id : 60092913576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Jog IRE U & iR g5 &1 al U1.UH. 3718, (PMI) & 3MTha & foTe fory faf¥y &1 SuaiT fora sirar g2
Options :

1. # ggol e1e-a (R Aifé)

2. % PR (Sl

3. ¢ o e (@R Hifew)

4. % Pic A e Uaefad)

Question Number : 188 Question Id : 60092913577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An AB blood type person can give blood to an individual of which of the following blood types?
Options :

1. % A, AB

2. % A,B,AB,O

3.¥ AB



4. % B,AB

Question Number : 188 Question Id : 60092913577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AB & GHg 1 f Fafeiad & § frd Yad 9qg & afed &l 3ad & Jobell 22
Options :

1. % A, AB

2. % A,B,AB,O

3.¥ AB

4. % B, AB

Question Number : 189 Question Id : 60092913578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are NOT an example of Altered Bloodstain pattern?

a. wipes (blood was present, but a person/object moved through it and changed its appearance)
b. vertical blood drops (blood dripping at 90 degrees to the surface)
c. flow (large pool of blood moving down a wall or incline)

Options :

1. * Onlya

2. % Bothbandc
3. % Bothaandc
4. % Onlyc

Question Number : 189 Question Id : 60092913578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefad & § B WA fade uRafdd IaaerT de- B1d Saeu T8l 8787
a. QI3 (X HINIG YT, Wb s AT/ SUP SHUR I ToRT 3R 3! IUrfa uikafid &2 &)




b. SR TG Yo/ad BT Searer FRAT (Fdg TR 90 TSt T I9d o1 euasp)
c. UATg (X&d D1 ol AT o1 SlaR ¥ e FIRAT a1 3949)
Options :

1. % Hdd a
2. b 3R c Al
3. % 3 3R ¢ MY
4. % PHad c

Question Number : 190 Question Id : 60092913579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following terms is used to identify the rounded ends of a long bone?
Options :

1. # Metaphysis

2. % Diaphysis

3. % Biphasic

4. ¥ Epiphysis

Question Number : 190 Question Id : 60092913579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el g8t & el RRI 1 Uga & fore Fafead # 3 fva <rsg &1 v fobar St g2
Options :

1. ® fYBISHIC (ABRN)

2. % 3fRygd (Srafthi)

3. % feumafeues (St )

4. 3iftad (Ot R)

Question Number : 191 Question Id : 60092913580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is used for determining the age in an adult (25 to 30 years approx.)?

1. Pubic bones
ii. Deciduous teeth

Options :

1. ¥ Only i

2. % Only ii

3. # Bothiandii

4. % Neither 1 nor ii

Question Number : 191 Question Id : 60092913580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TP (TTHT 25 30 I9) Bt 31g a5 & e Ffeiad o @ et Iugi fear S g2
i. STEATRY

ii. QY % aTa/reureft i

Options :

1. ¥ $ad i

2. % dad i

3. % i 3R ii gHI

4. % Fdqi AR Tii

Question Number : 192 Question Id : 60092913581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are role of a Forensic anthropologist?

1. Identification of skeletal remains
2. Help in facial and body recognition in a crowd
3. Perform autopsies to determine the presence/absence of a disease

Options :
1. % Only 2



2. % Both 1 and 2
3. ® Both 2 and 3
4. % All1,2and 3

Question Number : 192 Question Id : 60092913581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafefad # 3 =nfie Jeer (ERR¥ itk @ an Yt yiten 8/
1. HHId IR P Tgd

2. Wi # I8 3R IR U H IgrIdl U Al

3. fdt ARt & 81 a1 9 8 &1 RyRu B & fore w9 udtermor

Options :

1. % Had 2

2. ¢ 1 3R 23
3. % 2 3R 3 M
4. % 1,2 33T

Question Number : 193 Question Id : 60092913582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a part of Diaphysis?

a. Articular Cartilage
b. Medullary Cavity
c. Periosteum

Options :

1. ¥ Only a

2. % Only b

3. % Onlyc

4. % All a, b and c are included

Question Number : 193 Question Id : 60092913582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafead 7 @ o a1 sifyad (SrafthRrg) 1y a8 82

a. GUTIH IUTRY (SATEH R HIcTaron)

b. SIARAT BT (AT bideh)

Optlons :

1.¥ $Had a
2. % Bhad b
3. % ®ddc
4, % a,bﬁc?‘ﬁ:ﬁm%

Question Number : 194 Question Id : 60092913583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The wisdom tooth mostly erupts between age period of a human being.
Options :

1. # 5t09 years

2. % 20 to 30 years

3. % 45 to 65 years

4. ¥ 17 to 21 years

Question Number : 194 Question Id : 60092913583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T a1 SHfUPR AT B 311 31afd & oia e B
Options :

1. %5399y

2. % 20930 a4

3. % 459 65 a4

4.4 17821



Question Number : 195 Question Id : 60092913584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a person has no teeth, the identifying information is gathered from the analysis of which of the following?

1. structure of skull
2. analysis of dentures
3. structure of jaws

Options :

1. ® Only 1

2. % Only 3

3. % Both 1 and 2
4. % All1,2and 3

Question Number : 195 Question Id : 60092913584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fradt safad & 1 7 81, i Fafafad 7 3 feae faway @ uga & SHaR! Thd o 91l 82

1. @Q@WQW—% (x-rays)
2. AT dIaal (SoR) Bl
3. O&s I T

Options :

1. % $ad 1|
2. % $Had 3
3. % [ 3R 2 GHl
4.9 1,2 3R 3 gaft

Question Number : 196 Question Id : 60092913585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Reverse Tolerance is associated with which of the following drugs?



Options :

1. ¥ LSD

2. # Cocaine
3. ¥ Morphine
4. #* Alcohol

Question Number : 196 Question Id : 60092913585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feadf efer™ Fafafea o @ forg gar @ deftd g2
Options :

1.+ TA.TY. 3. (LSD)

2. % BB

3. % 3P BT < (Hith)

4, % 3 GID FY (3chlgd)

Question Number : 197 Question Id : 60092913586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a withdrawal symptom from the lack of a drug?
Options :

1. # Headaches

2. # Hallucinations

3. % Fever

4. % Nausea

Question Number : 197 Question Id : 60092913586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frufered & A S 91 ¢dl &1 HHl J aruf) &7 d&v T8t 82

Options :



1% R
2. % #fayd
3. ¥ 5di

4. % Tdd

Question Number : 198 Question Id : 60092913587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The characteristics of Ethanol is/are:

1. Acts as a mild tranquilizer
2. It is a central nervous system anti-depressant
3. It also acts a neurotoxin

Options :

1. # Both 1 and 2
2. ¥ Both 1 and 3
3. % Only 3

4. % All'1,2and 3

Question Number : 198 Question Id : 60092913587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad O 9 33H1d Bt faRIvdrsi o1 999 &1 |

1. 98 U%h goob U (S ATIeR) & U § &1 ol §
2. 98 U $H41g e o saumeridt (e1-fetde) §

3. I8 dfAsfay ("gRIei ) &1+t &1 a1 g
Options :

1. % 1 3R 2 GHI

2. ¢ 1 3R 3 3Hl

3. % $ad 3

4. % 1,2 3R 3t




Question Number : 199 Question Id : 60092913588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a male, how is the amount of alcohol required to achieve a given BAC calculated?
Options :

1. ¥ Volume = Weight X BAC /3.78

2. # Volume = Weight X BAC / 4.67

3. % Volume = Weight X BAC / 2.33

4. ¥ Volume = Weight X BAC / 1.99

Question Number : 199 Question Id : 60092913588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foft Tou & g, e .Ut (BAC) B U HA & folU SMTae Sehigd ! HET HI TUFT By Bi il g2
Options :

1. ¢ Add=HR X BAC/3.78

2. #% dI=YHR X BAC/4.67

3. % 3dd=HR X BAC/2.33

4, % HdT=HR X BAC/1.99

Question Number : 200 Question Id : 60092913589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a test included in the Field Sobriety Testing?
Options :

1. # Stand on one foot

2. % Walk and turn

3. % Vertical gaze nystagmus

4. # Horizontal gaze nystagmus

Question Number : 200 Question Id : 60092913589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ ®1F 1 ukteor & Tgw Tieun (wics Aiergd! i) o enfie Y |2
Options :

1. % T WWR TS T

2. % T SR G

3. ¢ TR adIH SHferera

4. % A aAH SMfrere




